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EFD><F5?LEF64):

4.1. %?4?L=O= >>D?GE <=>EFD4==OE D45>G<E =4 96 G5?. (4 54.) 

4.2. �D<E=>5 744=<5; 

4.3. %>7O=EF65==>-?<FL564O =4E>E=4O EF4=F<O E D575D6G4D4<<; 

4.3.1 �D>F<6>?>64D=4O =4E>E=4O EF4=F<O E D575D6G4D4<<;

4.4. �<>>EFL =4>>?<F5?L E>7O=EF65==>-5OF>6OE EF>>>6;

4.5. �<>>EFL =4>>?<F5?L ?>65DE=>EF=OE EF>>>6;

4.6. �&��; 

5.1 �D5<5==O5 >F>DOFO5 E>?44E><5 ??>M44>< 4?O <5F4??>>>=EFDG>F<= < 

>5>DG4>64=<O; 

5.2 %>>DG65=<O ?D><76>4EF65==>-6E?><>74F5?L=>7> =47=4G5=<O (E<. D4745? ��'); 

6. �>4>>F6>4=O5 >4=46O 64>?L 7D4=<F F5DD<F>D<< <=65=5D=>= ?>47>F>6><;

7. �D5<5==>5 >7D4645=<5 ���.

� 744=<OE E?4?L=OE >>D?GE>6 ?D>5>F>< ?D54GE<>FD5=O 6<?O5 >><=4FO, G5>D=O5,

G<O64?L=O5 =4 >464>< MF465. �4 ?5D6>< MF465 ?D54GE<>FD5=4 4GL564O, D474564?>4. �4 

6F>D>< MF465   ?D54GE<>FD5=4 55?L564O < ?><5M5=<5 4?O EGL><. 

� >D<E=>< 744=<< ?D>5>F>< ?D54GE<>FD5=4 EF>?>64O D4744F>G=4O, <54?G=>F,

44<<=<EFD4F<6=O= 5?>> < 4DG7<5 E>?GFEF6GNM<5 ?><5M5=<O. 

�44=<O E?4?L=OE >>D?GE>6 

%F5?5=L >7=5EF>=>>EF< 3IV; 

�?4EE >>=EFDG>F<6=>= ?>64D=>= >?4E=>EF< 3 %1; 

�?4EE DG=>F<>=4?L=>= ?>64D=>= >?4E=>EF< - $1.2; 
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�?4EE E>>DG65=<= �%-1 E>7?4E=> ��%& 27751-2014 «�4456=>EFL EFD><F5?L=OE < 

>E=>64=<=» E D5>><5=4G5<O< ED>>>< M>E??G4F4F<< 10?5F. 

�D<E=>5 744=<5 

%F5?5=L >7=5EF>=>>EF< 3IV; 

�?4EE >>=EFDG>F<6=>= ?>64D=>= >?4E=>EF< 3 %1; 

�?4EE DG=>F<>=4?L=>= ?>64D=>= >?4E=>EF< 3 $3.2, $4.3; 

4) %6545=<O > EGM5EF6GNM<E < ?D>5>F<DG5<OE <EF>G=<>4E 6>4>E=4565=<O

� E6O7< E >FEGFEF6<5< =4 ??>M44>5 EFD><F5?LEF64 7>D>4>4 EFD><F5?5= 

F5=FD4?<7>64==OE E5F5= 6>4>E=4565=<O, E>7?4E=> 7444=<O =4 ?D>5>F<D>64=<5, 

>EGM5EF6?O5FEO 4>EF46>4 6>4O ?<FL56>7> >4G5EF64, E?5FFD4=E?>DF><, ?> �>7>6>DG

(E<. �D<?>65=<5 1), 4?O 74?>?=5=<O D575D6G4D>6 74?4E4 6>4O, =4 E>7O=EF65==>-

?<FL56O5 < ?D>F<6>?>64D=O5 =G64O. �>EF46>4 6O?>?=O5FEO E?5FFD4=E?>DF><, =4 

5475 �����, 10F, FD55G5<>5 >>?<G5EF6> D5=E>6, 4?O E>7O=EF65==>-?<FL56OE =G64 

3 4-5 6 EGF><, 4?O ?D>F<6>?>64D=OE 3 10, 6 EGF><. 

%>7?4E=> %�10.13130.2021, F45?.7.1 6=GFD5==55 ?>64D>FGL5=<5 32,5?/E. 

%>7?4E=> %�8.13130.2021, F45?.2, D4EE>4 =4 =4DG6=>5 ?>64D>FGL5=<5 

E>EF46?O5F 10?/E.

�D>5>F>< ?D54GE<>FD5=4 EFD><F5?LEF6> >>?LF56>7> 6>4>?D>6>44 �G110 E

GEF4=>6>>= 1-7> ?>64D=>7> 7<4D4=F4 ��1 (?. 8.9 %� 8.13130.2020) >>?>457=>7> 

<E?>?=5=<O, 446?5=<5 6 E5F< E>7445F ?D>5>F<DG5<4O 747?G5?5==4O =4E>E=4O  

?D>F<6>?>64D=>7> 6>4>E=4565=<O,  >>?>457=>7> F<?4 (>>D?GE-�-, 4<4<5FD 2,6<), E 

=4E>E=O<< 47D574F4<<: 

-'EF4=>6>4 ?>64D>FGL5=<O  ANTARUS 2 MST65-125/5,5/DS2-GPRS (1 D45., 1 

D57.),  <>M=>EFL-5,5>�F, $4EE>4-51,8 <3/G4E, =4?>D-15<, D<D<O ANTARUS, ?<5> 

4=4?>7 (E<. �D<?>65=<5 4).    

�>44G4 6>4O 6 =4E>E=GN EF4=F<N 6O?>?=5=> >F  2-E =4DG6=OE �-

7>D<7>=F4?L=OE D575D6G4D4, >5N5<>< V=60<³ >464O=. �4?>?=5=<5 D575D6G4D>6 3

?D<6>7=4O 6>44, ?> �>7>6>DG (E<. �D<?>65=<5 1), E?5FFD4=E?>DF><, =4 5475 

����� 3 10F. �>?<G5EF6> D5=E>6 -12, 6 F5G5=<< 24 G4E4. 

�D>5>F>< ?D54GE<>FD5=> EFD><F5?LEF6> E>7O=EF65==>-?<FL56>=,

?D>F<6>?>64D=>= =4E>E=>= EF4=F<<  >>?>457=>7> F<?4  (>>D?GE-�-, 4<4<5FD 2,4<) 

E ?>475<=O<< D575D6G4D4<< 74?4E4 ?<FL56>= 6>4O, E =4E>E=O<< 47D574F4<<: 
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- �4E>E=4O GEF4=>6>4 ?>6OL5=<O 446?5=<O ANTARUS 4 MLH15-30/GPRS 

4<E?5FG5D<74F<O (2 D45., 2 D57.),  <>M=>EFL-3>�F, $4EE>4-24,77 <3/G4E, =4?>D-35<, 

D<D<O ANTARUS, ?<5> 4=4?>7 (E<. �D<?>65=<5 3).   

�>44G4 6>4O 6 =4E>E=GN EF4=F<N 6O?>?=5=> >F  2-E =4DG6=OE  �- 

7>D<7>=F4?L=OE D575D6G4D4, >5N5<>< V=35<³ >464O=. �4?>?=5=<5 D575D6G4D>6 3

?D<6>7=4O 6>44, ?> �>7>6>DG (E<. �D<?>65=<5 1), E?5FFD4=E?>DF><, =4 5475 

����� 3 10F. �>?<G5EF6> D5=E>6 -7, 6 F5G5=<< 24 G4E4.  

%>7?4E=> %�31.13330.2020, F45?.28 ?> EF5?5=< >55E?5G5==>EF< ?>44G< 6>4O, 

?.7,4, =4E>E=4O EF4=F<O  ?D>F<6>?>64D=>7> 6>4>E=4565=<O  >F=>E<FEO > I 

>4F57>D<<, >?4EE >F65FEF65==>EF<-II. 

%>7?4E=> %�31.13330.2020, F45?.28 ?> EF5?5=< >55E?5G5==>EF< ?>44G< 6>4O, 

?.7,4, =4E>E=4O EF4=F<O  E>7O=EF65==>-?<FL56>7>, ?D>F<6>?>64D=>7>  

6>4>E=4565=<O  >F=>E<FEO > I >4F57>D<<, >?4EE >F65FEF65==>EF<-II. 

%>7?4E=> %�31.13330.2020, F45?.28 ?> EF5?5=< >55E?5G5==>EF< ?>44G< 6>4O, 

?.7,4, D575D6G4DO 4?O ED4=5=<O ?>64D=>7> >5N5<4  6>4O ?<FL56>7> >4G5EF64 

(?>7.4.3.1 ?> ��), >F=>EOFEO > I >4F57>D<<, >?4EE >F65FEF65==>EF<-II. 

%>7?4E=> %�31.13330.2020, F45?.28 ?> EF5?5=< >55E?5G5==>EF< ?>44G< 6>4O, 

?.7,4, D575D6G4DO 4?O ED4=5=<O E>7O=EF65==>-?<FL56>7>, ?D>F<6>?>64D=>7> >5N5<4  

6>4O ?<FL56>7> >4G5EF64 (?>7.4.3 ?> ��), >F=>EOFEO >  I >4F57>D<<, >?4EE 

>F65FEF65==>EF<-II. 

�4F57>D<O M?5>FD>GEF4=>6>> =4E>E=OE EF4=F<= (?>7.4.3, 4.3.1 ?> ��)  

>F=>E<FEO > I >4F57>D<<. 

�?4EE 74M<FO =4E>E=OE EF4=F<=, =5 <5=55 IP68. 

�?<<4F<G5E>>5 <E?>?=5=<5 =4E>E=OE EF4=F<= 3'%�5.1. 

�464O= D575D6G4D E>7O=EF65==>-?<FL56>7>, ?D>F<6>?>64D=>7> 74?4E4 6>4O 

(?>7.4.3 ?> ��) >5>DG4>64= ?>44NM<<, ?5D5?<6=O< < E?GE>=O< FDG5>?D>6>44<<, 

6>74GE>>5<5==>= GEF4=>6>>=.  

�4G5EF6> 6>4O E>>F65FEF6G5F %4=�<� 1.2.3685-21. 

�4 ?>44NM<E FDG5>?D>6>44E,  >F =4E>E=OE 47D574F>6 =4E>E=>= EF4=F<< (?>7.4.3 

?> ��), 4?O GG5F4 ?> 6>4>?>FD55?5=<N, ?D54GE<4FD<645FEO GEF4=>6>4 

M?5>FD><47=<F=OE D4EE>4><5D>6 ��$�&-551� E <<?G?LE=O< 6OE>4>< ?>>474=<=. 

�4==O5 ?5D544NFEO =4 4<E?5FG5DE><= ?G=>F 6 744=<5 ���. 
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�>?< F5DD<F>D<< 7>D>4>4 4?O EFD><F5?5=-?D<6>7=4O 6>44 (E<. �D<?>65=<5 2) 

5) %6545=<O > EGM5EF6GNM<E < ?D>5>F<DG5<OE 7>=4E >ED4=O <EF>G=<>>6 

?<FL56>7> 6>4>E=4565=<O, 6>4>>ED4==OE 7>=4E 
 

%>7?4E=> ?.2.4.2 %4=�<� 2.1.4.1110-02, E>>DG65=<O ??>M44>< 1 MF4?4 

EFD><F5?LEF64, 7>D>4>4 EFD><F5?5=, <<5NF E?54GNM<5 E4=<F4D=>-74M<F=O5 7>=O: 

-7D4=<F4 D575D6G4D>6 74?4E4 G<EF>= 6>4O (?>7.4.3 ?> ��)-30<; 

-7D4=<F4 =4E>E=>= EF4=F<< E>7O=EF65==>-?<FL56>7>, ?D>F<6>?>64D=>7> 

6>4>E=4565=<O (?>7.4.3 ?> ��)-15<; 

- E4=<F4D=4O 7>=4 6>4>?D>6>44 ?D54EF46?5=4 E 74M<F=>= ?>?>E>=, ?D<=OF>=, 

=4 D4EEF>O=<< 10< >F >D4==<E ?<=<= 6>4>?D>6>44. 

 � ?D545?4E E4=<F4D=>= 7>=O >FEGFEF6GNF <EF>G=<>< 747DO7=5=<O ?>G6O < 

7DG=F>6OE 6>4. 

6) �?<E4=<5 < E4D4>F5D<EF<>4 E<EF5<O 6>4>E=4565=<O < 55 ?4D4<5FD>6 
 

�>44 =4 ?D>5>F<DG5<>< >5N5>F5, FD55G5FEO 4?O >55E?5G5=<O E>7O=EF65==>-

?<FL56OE < ?D>F<6>?>64D=OE =G64 <=>EFD4==OE EFD><F5?5=.  

�D>5>F>< ?D54GE<>FD5=O E?54GNM<5 E<EF5<O 6>4>E=4565=<O: 

�1 - E>7O=EF65==>-?<FL56>= 6>4>?D>6>4; 

�2 3 ?D>F<6>?>64D=O= 6>4>?D>6>4; 

&3 - 7>DOG<= 6>4>?D>6>4;  

�>D<O 6>4>?>FD55?5=<O =4 E>7.?<FL56O5 =G64O ?> ?>FD55<F5?O<  ?D<=OFO  

?> F45?.�.2 %� 30.13330.2020. 

�5M4O ?>FD55=>EFL 6 E>?>4=>= 6>45 =4 E>7.?<FL56O5 =G64O E>EF46?O5F (6 

F.G. ?D<7>F>6?5=<5 ��%) : 

   - 41,298  <3/EGF.; 

   - 10,49 <3/G; 

   - 4,384  ?/E. 

$4EE>4 6>4O 4?O 6=GFD5==57> ?>64D>FGL5=<O   -2,5?/E 

$4EE>4 6>4O 4?O =4DG6=>7> ?>64D>FGL5=<O   -10 ?/E.  

$4EG5F=O5 D4EE>4O =4 =G64O E>?>4=>7>, 7>DOG57> < ?D>F<6>?>64D=>7> 

6>4>E=4565=<O 64EF>6>7> ?>E5?>4 ?D<6545=O 6 &45?<F5 1, "�4?4=E 
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6>4>?>FD55?5=<O < 6>4>>F6545=<O ?> >5N5>FG >4?<F4?L=>7> EFD><F5?LEF64 - 4?O

>5N5>F>6 =5?D><76>4EF65==>7> =47=4G5=<O".

�4DG6=4O ?D>>?44>4 E>7O=EF65==>-?<FL56>7>, ?D>F<6>?>64D=>7> 

6>4>?D>6>44 - >F>DOFO< E?>E>5><. �E=>64=<5 ?>4 FDG5O �- 6 FD4=L55 150<< -

?5E>>, M555=L, DD4>F<< =5 5>?55 0-5<<. 

�4 =4DG6=>= EF5=5 �D<E=>7> 744=<O ?D54GE<4FD<645FEO GEF4=>6>4 

G>474F5?O "�>64D=O= 7<4D4=F". '>474F5?L GEF4=46?<645FEO =4 D4E445 =44

E??4=<D>64==>= FD>FG4D=>= ??>M44>>=. 

     %5F< 6=GFD5==57> E>7O=EF65==>-?<FL56>7> 6>4>?D>6>44 6 744=<OE 

%?4?L=OE >>D?GE>6 < �D<E=>7> 744=<O, 74?D>5>F<D>64=O FG?<>>6O<<. �D>>?44>4 

FDG5>?D>6>4>6 ?D54GE<>FD5=4 E G>?>=>< 0,002.  

�44=<5 ��� 6=GFD5==<<< < =4DG6=O<< E5FO<< =5 >E=4M45FEO. �?O 

E>7O=EF65==> 5OF>6OE =G64, 4?O E>FDG4=<>>6 >ED4=O, ?D54GE<4FD<645FEO

G?<G=O= FG4?5F «�><D>DF» (E<. �D<?>65=<5 7).  >E=4M5==O= G=<F47><, 

G<O64?L=<>>< E 6>4>=47D564F5?5< < E5>D=>= 5<>>EFLN 4?O 5OF>6OE EF>>>6, 

>5N5<>< 260?.

  �=GFD5==<5 E5F< >5N54<=5==>7> E>7O=EF65==>-?<FL56>7>, 

?D>F<6>?>64D=>7> 6>4>?D>6>44  %?4?L=OE >>D?GE>6 < �D<E=>7> 744=<O, 

<>=F<DGNFEO: 

-<47<EFD4?L=O5 E5F<, FDG5O EF4?L=O5 M?5>FD>E64D=O5, ?> ��%& 10704-91, 

?>4 ?>>D4E>G �$-115 (74 2 D474) ?> 7DG=FG �$-21, E>54<=5=<5 =4 D57L5>6OE 

D<F<=74E. 

- ?>46>4><  %�% > E4=?D<5>D4< E>7O=EF65==>-?<FL56>= E<EF5<O 3 <7 FDG5

?>?<?D>?<?5=>6OE ?> ��%& $ 32415-2013, PPR &DG54 PN20, E>54<=5=<5-?D5EE-

D<F<=7<. 

- ?>46>4><  ��% > E4=?D<5>D4< E>7O=EF65==>-?<FL56>= E<EF5<O - <7 FDG5 

?>?<?D>?<?5=>6OE 4D<<D>64==OE EF5>?>6>?>>=>< ?> ��%& $ 32415-2013, PPR 

&DG54 PN25 GF SDR 6, 60°%, E>54<=5=<5-?D5EE-D<F<=7<. 

�D< ?4D4??5?L=>= ?D>>?44>5 FDG5>?D>6>4>6, 6 D4745?5 �$ GGF5=O 

<5D>?D<OF<O ?> GEF>=G<6>EF< >>=EFDG>F<=, DG=44<5=F>6 < EF5=. 

�>44NM<5, FDG5>?D>6>4O < EF>O>< E<EF5< %�%, ��% ?D>E>4OM<5 ?>4 

?>F>?>>< 1 MF464 <7>?<DGNFEO  =57>DNG5= <7>?OF<5= «�-flex», ?<5> 4=4?>7. 
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�4F5D<4? FDG5 ?>4>5D4= E GG5F>< =>D<4F<6=>7> ED>>4 E?G65O FDG5 E 

E>5?N45=<5< ED>>4 E?G65O FDG5 < E>54<=<F5?L=OE 45F4?5= -50 ?5F %�%, 25 ?5F 

��%(?.11.2  %� 30.13330.2020). 

7) %6545=<O > D4EG5F=>< (?D>5>F=><) D4EE>45 6>4O =4 E>7O=EF65==>-?<FL56O5 

=G64O, 6 F>< G<E?5 =4 46F><4F<G5E>>5 ?>64D>FGL5=<5 < F5E=<G5E>>5 

6>4>E=4565=<5, 6>?NG4O >5>D>F=>5  
 

&45?<F4 1. �4?4=E 6>4>?>FD55?5=<O < 6>4>>F6545=<O ?> >5N5>FG >4?<F4?L=>7> 

EFD><F5?LEF64 - 4?O >5N5>F>6 =5?D><76>4EF65==>7> =47=4G5=<O 

       �%����/�  ������&���  �� '�$&����  �����$�����  �  ��������&��       

�4<<5=>64=<5 

E<EF5<O 

�>D<4 

6>4>?>FD55

?5=<O, 

?/EGF 

$4EGUF=O= D4EE>4 'EF4=>6?

5==4O 

<>M=. 

M?5>FD>46<

74F5?5=, 

>�F. 

�>FD55=

O= 

=4?>D =4 

66>45, 

��4 

�D<< 
<3/EGF <3/G4E ?/E 

�D< 
?>64D5, 

?/E 

%?4?L=O5 >>D?GE4 3 384 G5?. (96G5?. 6 >464>< 744=<<- 4 744=<O) 

�>4>?D>6>4 �1, >5M<=, 6 

F.G. ��% 
85 32,64 5,952 2,742     

�>4>?D>6>4 �1 45 15,36 2,987 1,499     

�>DOG<= 6>4>?D>6>4 &3 40 17,28 3,178 1,576     

�4=4?<74F<O �1  32,64 5,952 2,742     

�=GFD5==55 

?>64D>FGL5=<5 
   2,5     

�D<E=>5 744=<5: 

�>4>?D>6>4 �1, >5M<=, 6 

F.G. ��% 
 8,694 6,508 2,785     

�54?G=>F -10 5>?/E<. 

�>4>?D>6>4 �1, >5M<=, 6 

F.G. ��% 
13 0,130 0,222 0,249     

�>4>?D>6>4 �1 8,6 0,086 0,152 0,168     

�>DOG<= 6>4>?D>6>4 &3 4,4 0,044 0,125 0,150     

�4=4?<74F<O �1  0,130 0,222 0,249     

�4<<=<EFD4F<O 3 44 G5?/EGF, 6 F.G., >D<E=O= D45>F=<>-42 G5?.+ >4EE<D-2 G5? 

�>4>?D>6>4 �1, >5M<=, 6 

F.G. ��% 
12 0,54 0,617 0,405     

�>4>?D>6>4 �1 7,5 0,3375 0,395 0,262     

�>DOG<= 6>4>?D>6>4 &3 4,5 0,2025 0,332 0,230     

�4=4?<74F<O �1  0,54 0,617 0,405     
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4) %6545=<O > D4EG5F=>< (?D>5>F=><) D4EE>45 6>4O =4 ?D><76>4EF65==O5 =G64O 

3 4?O >5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O 

�44=<O =5 O6?ONFEO >5N5>F4<< ?D><76>4EF65==>7> =47=4G5=<O. $4745? =5 

D47D454FO645FEO. 
 

5) %6545=<O > D4>F<G5E>>< < FD55G5<>< =4?>D5 6 E5F< 6>4>E=4565=<O, 

?D>5>F=OE D5L5=<OE < <=65=5D=>< >5>DG4>64=<<, >55E?5G<64NM<E E>744=<5 

FD55G5<>7> =4?>D4 6>4O 
 

&D55G5<O= =4?>D 4?O  =4DG6=>7> E>7O=EF65==>-?<FL56>7> 6>4>E=4565=<O �1  

 

&D55G5<O= =4?>D 6 E<EF5<5 �1 >?D545?O5FEO ?> D>D<G?5: 
 

        �FD = �geom + 3��� + �?D + �6>4 + �F5?? + �� 66>4 ,745  

�geom 3 75><5FD<G5E>4O 6OE>F4 D4E?>?>65=<O >F >E< =4E>E4 =4E>E=>= EF4=F<< 

(?>7.4.3 ?> ��) 4> E4<>7> G44?5==>7> 4<>FGNM57> E4=<F4D=>-F5E=<G5E>>7> ?D<5>D4 

=4 2 MF., (%?4?L=O= >>D?GE) < 6>4. EF.;  

        29,0- 22,35=6,65 <; 

3��� 3 EG<<4 ?>F5DL =4?>D4 =4 6E5E GG4EF>4E FDG5>?D>6>44 4<>FGNM57> 

=4?D46?5=<O, < 6>4. EF.; 

%F>?>64O 3 4000 5?N4/EGF, 1600 5?N4/G4E, ?D<6>7=4O 544 

�>4>?D>6>4 �1, >5M<=, 6 

F.G. ��% 
2 8,0 6,483 2,739     

�>4>?D>6>4 �1 1 4,0 3,524 1,530     

�>DOG<= 6>4>?D>6>4 &3 1 4,0 3,524 1,530     

�4=4?<74F<O �3  8,0 6,483 2,739     

�=GFD5==55 

?>64D>FGL5=<5 
   2,5     

�&���: 

�>4>?D>6>4 �1, >5M<=, 6 

F.G. ��% 
 41,298 10,49 4,384     

�>4>?D>6>4 �1  19,776 5,374 2,391     

�>DOG<= 6>4>?D>6>4 &3  21,522 5,506 2,444     

�4=4?<74F<O �1  41,298 10,49 4,384     

�=GFD5==55 

?>64D>FGL5=<5  
 27,0 9,0 2,5    1 EFDGO 

�4DG6=>5 

?>64D>FGL5=<5  
 108,0 36,0 10,0     

�>?<6 F5DD<F>D<< �D<6>7=4O         
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�>F5D< =4?>D4 =4 GG4EF>4E E<EF5<O E>?>4=>7> 6>4>E=4565=<O, < 6>4. EF.,

>?D545?O5FEO E GG5F>< L5D>E>64F>EF< <4F5D<4?4 FDG5: 

��� = � � (1 + ��),  

745 � 3 G45?L=O5 ?>F5D< =4?>D4 54<=<FO 4?<=O FDG5>?D>6>44 �, <,; 

 �� 3 >>MDD<F<5=F, GG<FO64NM<= ?>F5D< =4?>D4 6 <5EF=OE E>?D>F<6?5=<OE, 

?D<=<<45FEO 0,2 3 6 E5FOE >5N54<=5==OE E>7O=EF65==>-?D>F<6>?>64D=OE 

6>4>?D>6>4>6 6<?OE < >5M5EF65==OE 744=<=, 4 F4>65 6 E5FOE ?D><76>4EF65==OE

6>4>?D>6>4>6.

��� =1,125 (1+0,2)=1,35 < 6>4. EF., 

�?D 3 =4?>D (446?5=<5) ?5D54 4<>FGNM<< ?D<5>D>< =4 2->< MF. - 20 < 6>4. EF.,  

3�6>4 3EG<<4 ?>F5DL =4?>D4 6 G7?4E GG5F4 ?>FD55?O5<>= 6>4O (D4EE>4><5D 6 

=4E>E=>=+>5M5< 6 �5M56<F<<): 

 �6>4 =0,5+1,07=1,57<;  

�F5?? 3 ?>F5D< =4?>D4 6 6>4>=47D564F5?5 - 3 < 6>4. EF.; 

�� 66>4 3 ?>F5D< =4?>D4 =4 66>45, < 6>4. EF.=1,0<; 

�FD =6,65+1,35+20+1,57+3+1,0=33,6 < 6>4. EF. 

&D55G5<O= =4?>D 4?O  =4DG6=>7> E>7O=EF65==>-?<FL56>7> 6>4>E=4565=<O �1 

?D< ?>64D5 

&D55G5<O= =4?>D 6 E<EF5<5 �1 >?D545?O5FEO ?> D>D<G?5: 

     �FD = �geom + 3��� + �?D + �� 66>4 ,745  

�geom 3 75><5FD<G5E>4O 6OE>F4 D4E?>?>65=<O >F >E< =4E>E4 =4E>E=>= EF4=F<< 

(?>7.4.3 ?> ��) 4> E4<>7> G44?5==>7> 4<>FGNM57> �� =4 2 MF., (%?4?L=O= >>D?GE) < 

6>4. EF.;  

 29,5- 22,35=7,15 <; 

3��� 3 EG<<4 ?>F5DL =4?>D4 =4 6E5E GG4EF>4E FDG5>?D>6>44 4<>FGNM57> 

=4?D46?5=<O, < 6>4. EF.; 

�>F5D< =4?>D4 =4 GG4EF>4E E<EF5<O E>?>4=>7> 6>4>E=4565=<O, < 6>4. EF.,

>?D545?O5FEO E GG5F>< L5D>E>64F>EF< <4F5D<4?4 FDG5: 

��� = � � (1 + ��),  

745 � 3 G45?L=O5 ?>F5D< =4?>D4 54<=<FO 4?<=O FDG5>?D>6>44 �, <,; 
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 �� 3 >>MDD<F<5=F, GG<FO64NM<= ?>F5D< =4?>D4 6 <5EF=OE E>?D>F<6?5=<OE, 

?D<=<<45FEO 0,2 3 6 E5FOE >5N54<=5==OE E>7O=EF65==>-?D>F<6>?>64D=OE 

6>4>?D>6>4>6 6<?OE < >5M5EF65==OE 744=<=, 4 F4>65 6 E5FOE ?D><76>4EF65==OE

6>4>?D>6>4>6.

��� =3,6(1+0,2)=4,32 < 6>4. EF., 

�?D 3 =4?>D (446?5=<5) ?5D54 4<>FGNM<< �� =4 2->< MF. - 10 < 6>4. EF., 

�� 66>4 3 ?>F5D< =4?>D4 =4 66>45, < 6>4. EF.=1,0<; 

�D 3 ?>F5D< =4?>D4 6 ?>64D=>< DG>465; 

�FD =7,15+4,32+10+1+1=23,47=24 < 6>4. EF. 

&D55G5<O= =4?>D 4?O 6=GFD5==5= E<EF5<O E>7O=EF65==>-?<FL56>7> 

6>4>E=4565=<O �1 (�D<E=>5 744=<5)

&D55G5<O= =4?>D 6 E<EF5<5 �1 >?D545?O5FEO ?> D>D<G?5: 

 �FD = �geom + 3��� + �?D + �6>4 + �F5?? + �� 66>4 ,745, 

�geom 3 75><5FD<G5E>4O 6OE>F4 D4E?>?>65=<O >F >E< 66>44 4> 4<>FGNM57> 

E4=<F4D=>-F5E=<G5E>>7> ?D<5>D4 =4 2 MF., < 6>4. EF.;

 29,0- 22,35=6,65 <;

3��� 3 EG<<4 ?>F5DL =4?>D4 =4 6E5E GG4EF>4E FDG5>?D>6>44 4<>FGNM57> 

=4?D46?5=<O, < 6>4. EF.;

�>F5D< =4?>D4 =4 GG4EF>4E E<EF5<O E>?>4=>7> 6>4>E=4565=<O, < 6>4. EF.,

>?D545?O5FEO E GG5F>< L5D>E>64F>EF< <4F5D<4?4 FDG5: 

��� = � � (1 + ��), 

745 � 3 G45?L=O5 ?>F5D< =4?>D4 54<=<FO 4?<=O FDG5>?D>6>44 �, <,;

�� 3 >>MDD<F<5=F, GG<FO64NM<= ?>F5D< =4?>D4 6 <5EF=OE E>?D>F<6?5=<OE, 

?D<=<<45FEO 0,2 3 6 E5FOE >5N54<=5==OE E>7O=EF65==>-?D>F<6>?>64D=OE 

6>4>?D>6>4>6 6<?OE < >5M5EF65==OE 744=<=, 4 F4>65 6 E5FOE ?D><76>4EF65==OE

6>4>?D>6>4>6.

��� =0,9 (1+0,2)=1,08 < 6>4. EF.,

�?D 3 =4?>D (446?5=<5) ?5D54 4<>FGNM<< ?D<5>D>< =4 2->< MF. - 20 < 6>4. EF., 

�6>4 3?>F5D< =4?>D4 6 G7?5 GG5F4 ?>FD55?O5<>= 6>4O (>5M5<):

�6>4 =1,07<(>5M<=);

�F5?? 3 ?>F5D< =4?>D4 6 6>4>=47D564F5?5 - 3 < 6>4. EF.;

�� 66>4 3 ?>F5D< =4?>D4 =4 66>45, < 6>4. EF.=0,7<;
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�FD =6,65+1,08+20+1,07+3+0,7=32,5 < 6>4. EF. 

&D55G5<O= =4?>D >55E?5G<645FEO 74D4=F<D>64==O< =4?>D>< 6 =4DG6=OE E5FOE 

6>4>E=4565=<O-33,23<. 

&D55G5<O= =4?>D 6=GFD5==57> ?D>F<6>?>64D=>7> 6>4>E=4565=<O �1 (�D<E=>5 

744=<5) 
&D55G5<O= =4?>D 6 E<EF5<5 �1 >?D545?O5FEO ?> D>D<G?5: 

 

        �FD = �geom + 3��� + �?D + �� 66>4 ,745  

�geom 3 75><5FD<G5E>4O 6OE>F4 D4E?>?>65=<O >F >E< 66>44 4> E4<>7> 

G44?5==>7> 4<>FGNM57> �� =4 2 MF., < 6>4. EF.;  

        26,35- 22,4=3,95 <; 

3��� 3 EG<<4 ?>F5DL =4?>D4 =4 6E5E GG4EF>4E FDG5>?D>6>44 4<>FGNM57> 

=4?D46?5=<O, < 6>4. EF.; 

�>F5D< =4?>D4 =4 GG4EF>4E E<EF5<O E>?>4=>7> 6>4>E=4565=<O, < 6>4. EF., 

>?D545?O5FEO E GG5F>< L5D>E>64F>EF< <4F5D<4?4 FDG5:  

��� = � � (1 + ��),  

745 � 3 G45?L=O5 ?>F5D< =4?>D4 54<=<FO 4?<=O FDG5>?D>6>44 �, <,; 

 �� 3 >>MDD<F<5=F, GG<FO64NM<= ?>F5D< =4?>D4 6 <5EF=OE E>?D>F<6?5=<OE, 

?D<=<<45FEO 0,2 3 6 E5FOE >5N54<=5==OE E>7O=EF65==>-?D>F<6>?>64D=OE 

6>4>?D>6>4>6 6<?OE < >5M5EF65==OE 744=<=, 4 F4>65 6 E5FOE ?D><76>4EF65==OE 

6>4>?D>6>4>6.  

��� =1,9(1+0,2)=2,28 < 6>4. EF., 

�?D 3 =4?>D (446?5=<5) ?5D54 4<>FGNM<< �� =4 2->< MF. - 10 < 6>4. EF.,  

�� 66>4 3 ?>F5D< =4?>D4 =4 66>45, < 6>4. EF.=1,0<; 

�D 3 ?>F5D< =4?>D4 6 ?>64D=>< DG>465; 

�FD =3,95+2,28+10+1+1=18,23=19 < 6>4. EF. 

 

&D55G5<O= =4?>D 4?O  6=GFD5==5= E<EF5<O �1 (%?4?L=O= >>D?GE) 

&D55G5<O= =4?>D 6 E<EF5<5 �1 E4<>7> G44?5==>7> 744=<O >5M56<F<O, 

>?D545?O5FEO ?> D>D<G?5: 

        �FD = �geom + 3��� + �?D + �6>4 + �F5?? + �� 66>4 ,745,   

�geom 3 75><5FD<G5E>4O 6OE>F4 D4E?>?>65=<O >F >E< 66>44 4> 4<>FGNM57> 

E4=<F4D=>-F5E=<G5E>>7> ?D<5>D4 =4 2 MF., < 6>4. EF.;  
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        29,0- 22,35=6,65 <; 

3��� 3 EG<<4 ?>F5DL =4?>D4 =4 6E5E GG4EF>4E FDG5>?D>6>44 4<>FGNM57> 

=4?D46?5=<O, < 6>4. EF.; 

�>F5D< =4?>D4 =4 GG4EF>4E E<EF5<O E>?>4=>7> 6>4>E=4565=<O, < 6>4. EF., 

>?D545?O5FEO E GG5F>< L5D>E>64F>EF< <4F5D<4?4 FDG5:  

��� = � � (1 + ��),  

745 � 3 G45?L=O5 ?>F5D< =4?>D4 54<=<FO 4?<=O FDG5>?D>6>44 �, <,; 

 �� 3 >>MDD<F<5=F, GG<FO64NM<= ?>F5D< =4?>D4 6 <5EF=OE E>?D>F<6?5=<OE, 

?D<=<<45FEO 0,2 3 6 E5FOE >5N54<=5==OE E>7O=EF65==>-?D>F<6>?>64D=OE 

6>4>?D>6>4>6 6<?OE < >5M5EF65==OE 744=<=, 4 F4>65 6 E5FOE ?D><76>4EF65==OE 

6>4>?D>6>4>6.  

��� =2,0 (1+0,2)=2,4 < 6>4. EF., 

�?D 3 =4?>D (446?5=<5) ?5D54 4<>FGNM<< ?D<5>D>< =4 2->< MF. - 20 < 6>4. EF.,  

�6>4 3?>F5D< =4?>D4 6 G7?5 GG5F4 ?>FD55?O5<>= 6>4O (>5M5<): 

 �6>4 =0,675<(>5M<=);  

�F5?? 3 ?>F5D< =4?>D4 6 6>4>=47D564F5?5 - 3 < 6>4. EF.; 

�� 66>4 3 ?>F5D< =4?>D4 =4 66>45, < 6>4. EF.=0,7<; 

�FD =6,65+2,4+20+0,675+3+0,7=33,42 < 6>4. EF. 

&D55G5<O= =4?>D >55E?5G<645FEO 74D4=F<D>64==O< =4?>D>< 6 =4DG6=OE E5FOE 

6>4>E=4565=<O-33,65<. 

&D55G5<O= =4?>D 6=GFD5==57> ?D>F<6>?>64D=>7> 6>4>E=4565=<O �1 

(%?4?L=O= >>D?GE) 
&D55G5<O= =4?>D 6 E<EF5<5 �1 >?D545?O5FEO ?> D>D<G?5: 

 

        �FD = �geom + 3��� + �?D + �� 66>4 ,745  

�geom 3 75><5FD<G5E>4O 6OE>F4 D4E?>?>65=<O >F >E< 66>44 4> E4<>7> 

G44?5==>7> 4<>FGNM57> �� =4 2 MF., < 6>4. EF.;  

        26,35- 22,4=3,95 <; 

3��� 3 EG<<4 ?>F5DL =4?>D4 =4 6E5E GG4EF>4E FDG5>?D>6>44 4<>FGNM57> 

=4?D46?5=<O, < 6>4. EF.; 

�>F5D< =4?>D4 =4 GG4EF>4E E<EF5<O E>?>4=>7> 6>4>E=4565=<O, < 6>4. EF., 

>?D545?O5FEO E GG5F>< L5D>E>64F>EF< <4F5D<4?4 FDG5:  

��� = � � (1 + ��),  
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745 � 3 G45?L=O5 ?>F5D< =4?>D4 54<=<FO 4?<=O FDG5>?D>6>44 �, <,; 

 �� 3 >>MDD<F<5=F, GG<FO64NM<= ?>F5D< =4?>D4 6 <5EF=OE E>?D>F<6?5=<OE, 

?D<=<<45FEO 0,2 3 6 E5FOE >5N54<=5==OE E>7O=EF65==>-?D>F<6>?>64D=OE 

6>4>?D>6>4>6 6<?OE < >5M5EF65==OE 744=<=, 4 F4>65 6 E5FOE ?D><76>4EF65==OE 

6>4>?D>6>4>6.  

��� =0,78(1+0,2)=1,2 < 6>4. EF., 

�?D 3 =4?>D (446?5=<5) ?5D54 4<>FGNM<< �� =4 2->< MF. - 10 < 6>4. EF.,  

�� 66>4 3 ?>F5D< =4?>D4 =4 66>45, < 6>4. EF.=1,0<; 

�D 3 ?>F5D< =4?>D4 6 ?>64D=>< DG>465; 

�FD =3,95+1,2+10+1+1=17,15=18 < 6>4. EF. 

 

�D>5>F>< ?D<=OF4 =4E>E=4O EF4=F<O 747?G5?5==>7> F<?4, >>D?GE �-, 

4<4<5FD>< 2400<, >>F>D4O >55E?5G<645F FD55G5<>5 446?5=<5 ?D< E>7O=EF65==>-

?<FL56>< < ?>64D=>< D56<<5,  E =4E>E=O<< GEF4=>6>4<< ?>6OL5=<O 446?5=<O 

ANTARUS 4 MLH15-30/GPRS 4<E?5FG5D<74F<O (2 D45., 2 D57.),  <>M=>EFL-3>�F, 

$4EE>4-24,77 <3/G4E, =4?>D-35<, D<D<O ANTARUS, ?<5> 4=4?>7, 7D4D<>< D45>FO  

=4E>E=OE GEF4=>6>> ?D< E>7O=EF65==>-?<FL56>< < ?>64D=>< D56<<5, E<. �D<?>65=<5 

3. 

 

&D55G5<O= =4?>D 4?O  =4DG6=>7> ?D>F<6>?>64D=>7> 6>4>E=4565=<O �2  

&D55G5<O= =4?>D 6 E<EF5<5 �2 >?D545?O5FEO ?> D>D<G?5: 

        �FD = �geom + 3��� + �?D , 745  

�geom 3 75><5FD<G5E>4O 6OE>F4 D4E?>?>65=<O >F >E< =4E>E4 =4E>E=>= EF4=F<< 

(?>7.4.4 ?> ��) 4> ��, < 6>4. EF.;  

        24,1- 21,02=3,08 <; 

3��� 3 EG<<4 ?>F5DL =4?>D4 =4 6E5E GG4EF>4E FDG5>?D>6>44 4<>FGNM57> 

=4?D46?5=<O, < 6>4. EF.; 

�>F5D< =4?>D4 =4 GG4EF>4E E<EF5<O E>?>4=>7> 6>4>E=4565=<O, < 6>4. EF., 

>?D545?O5FEO E GG5F>< L5D>E>64F>EF< <4F5D<4?4 FDG5:  

��� = � � (1 + ��),  

745 � 3 G45?L=O5 ?>F5D< =4?>D4 54<=<FO 4?<=O FDG5>?D>6>44 �, <,; 
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 �� 3 >>MDD<F<5=F, GG<FO64NM<= ?>F5D< =4?>D4 6 <5EF=OE E>?D>F<6?5=<OE, 

?D<=<<45FEO 0,2 3 6 E5FOE >5N54<=5==OE E>7O=EF65==>-?D>F<6>?>64D=OE 

6>4>?D>6>4>6 6<?OE < >5M5EF65==OE 744=<=, 4 F4>65 6 E5FOE ?D><76>4EF65==OE 

6>4>?D>6>4>6.  

��� =0,3 (1+0,2)=0,36 < 6>4. EF., 

�?D 3 =4?>D (446?5=<5) ?5D54 ��. - 10 < 6>4. EF.,  

�FD =3,08+0,36+10=13,44 < 6>4. EF. 

�D>5>F>< ?D<=OF4 =4E>E=4O EF4=F<O 747?G5?5==>7> F<?4, >>D?GE �-, 

4<4<5FD>< 2600<, >>F>D4O >55E?5G<645F FD55G5<>5 446?5=<5 6 =4DG6=>= E5F<, E 

=4E>E=O<< ?D>F<6>?>64D=O<< GEF4=>6>4<< ANTARUS 2 MST65-125/5,5/DS2-GPRS 

(1 D45., 1 D57.),  <>M=>EFL-5,5>�F, $4EE>4-51,8 <3/G4E, =4?>D-15<, D<D<O ANTARUS, 

?<5> 4=4?>7 (E<. �D<?>65=<5 4).    

$4EG5F < ?>45>D EG5FG<>>6 
 

�?O GG5F4 D4EE>4>6 6>4>?>FD55?5=<O 6 744=<OE 64EF>6>7> ?>E5?>4, 

GEF4=46?<64NFEO EG5FG<>< E <<?G?LE=O< 6OE>4>< ?>>474=<= <4D>< �%%�4. 

�E=>6=O5 6>4><5DO, D4E?>?>65=O  =4 1 MF465, 66>44 E>?>4=>7> 6>4>?D>6>44,  

E 4>EFG?>< F>?L>> 4?O >5E?G6<64NM57> ?5DE>=4?4, E=<<4NM<E ?>>474=<O 

EG5FG<>>6. �>>474F5?< EG5FG<>>6 6O6>4OFEO =4 54<=O= 4<E?5FG5DE><= ?G=>F. 

�>F5D< =4?>D4 (446?5=<O) 6 EG5FG<>4E h, < 6>4. EF., ?D< <4>E<<4?L=>< 

D4EG5F=>< D4EE>45 6>4O � (� ��� , � / , � 	 ), ?/E, E?54G5F >?D545?O5FEO ?> D>D<G?5: 

                                                          / = 
� 2 ,  

745 
 2 7<4D46?<G5E>>5 E>?D>F<6?5=<5 EG5FG<>4, ?D<=<<45<>5 ?> F45?<F5 12.1 

%�30.13330.2020 

%>?>4=>5 6>4>E=4565=<5, �1 (�D<E=>5 744=<5) 
 

                / = 0,143(2,739)²=1,07< 

            �D<=<<45FEO FGD5<==O= EG5FG<> �%%�4-50, >>?<5D>< �G50, E <<?G?LE=O< 

6OE>4>< ?>>474=<= (?<5> 4=4?>7) 

%>?>4=>5 6>4>E=4565=<5, �1 (%?4?L=O= >>D?GE) 
 

                / = 0,5(1,162)²=0,675< 

            �D<=<<45FEO >DO?LG4FO= EG5FG<> �%%�4-40, >>?<5D>< �G40, E <<?G?LE=O< 

6OE>4>< ?>>474=<= (?<5> 4=4?>7) 
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�) %6545=<O > <4F5D<4?4E  FDG5 E<EF5< 6>4>E=4565=<O < <5D4E ?> <E 74M<F5 >F 

47D5EE<6=>7> 6>745=EF6<O 7DG=F>6 < 7DG=F>6OE 6>4 

�=GFD5==OO E5F<  �1 744=<= %?4?L=OE >>D?GE>6 < �D<E=>7> 744=<O, 

<>=F<DGNFEO: 

-<47<EFD4?L=O5 E5F<, FDG5O EF4?L=O5 M?5>FD>E64D=O5, ?> ��%& 10704-91, 

PN10, ?>4 ?>>D4E>G �$-115 (74 2 D474) ?> 7DG=FG �$-21, E>54<=5=<5 =4 D57L5>6OE 

D<F<=74E. 

- ?>46>4>< %�% > E4=?D<5>D4<, F5E.>5>DG4>64=<N < <>=>4< EF>?>6>= - <7 FDG5

?>?<?D>?<?5=>6OE FDG5 ?> ��%& $ 32415-2013, PPR &DG54 PN20, E>54<=5=<5 - ?D5EE 

D<F<=7<.  

- ?>46>4>< ��% > E4=?D<5>D4<, F5E.>5>DG4>64=<N < <>=>4< EF>?>6>= - <7 FDG5 

?>?<?D>?<?5=>6OE 4D<<D>64==OE EF5>?>6>?>>=>< ?> ��%& $ 32415-2013, PPR 

&DG54 PN25 GF EF5>?>6>?>>=> SDR 6, 60°%, E>54<=5=<5 - ?D5EE D<F<=7<. 

�44=<5 ��� 6=GFD5==<<< < =4DG6=O<< E5FO<< =5 >E=4M45FEO. �?O 

E>7O=EF65==> 5OF>6OE =G64, 4?O E>FDG4=<>>6 >ED4=O, ?D54GE<4FD<645FEO G?<G=O=

FG4?5F «�><D>DF» (E<. �D<?>65=<5 7).  >E=4M5==O= G=<F47><, G<O64?L=<>>< E 

6>4>=47D564F5?5< < E5>D=>= 5<>>EFLN 4?O 5OF>6OE EF>>>6, >5N5<>< 260?.

�D< ?4D4??5?L=>= ?D>>?44>5 FDG5>?D>6>4>6 �1, &3, 6 D4745?5 �$ GGF5=O 

<5D>?D<OF<O ?> GEF>=G<6>EF< >>=EFDG>F<=, DG=44<5=F>6 < EF5=. 

�>44NM<5, FDG5>?D>6>4O < EF>O>< E<EF5< 6>4>E=4565=<O ?>4 ?>F>?>>< 1-7>

MF464  < 6OL5 >F<. 0,000 <7>?<DGNFEO  =57>DNG5= <7>?OF<5= «K-flex», F>?M<=>= =5 

<5=55 10<<, ?<5> 4=4?>7.     

�4DG6=O5 E5F< ?D>F<6>?>64D=>7>  6>4>?D>6>44, �2 6O?>?=ONFEO: 

- �>?LF56O5, >F D575D6G4D>6 4> =4E>E=>= EF4=F<<, <7 ?>?<MF<?5=>6OE

=4?>D=OE FDG5 FO65?>7> F<?4 �- 100 SDR 17 160E9,5, 6=GFD5==<< 4<4<5FD>< 141 

<<, PN8,  "?<FL56OE" ?> ��%& 18599-2001.     

- �>?LF56O5 >F =4E>E=>= EF4=F<<, <7 ?>?<MF<?5=>6OE =4?>D=OE FDG5

FO65?>7> F<?4 �- 100 SDR 17  110E6,6, 6=GFD5==<< 4<4<5FD>< 96,8 <<, PN10, 

"?<FL56OE" ?> ��%& 18599-2001.  

�4DG6=O5 E5F< E>7O=EF65==>-?<FL56>7>, ?D>F<6>?>64D=>7>  6>4>?D>6>44, �1 

6O?>?=ONFEO: 
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-  �>?LF56O5, >F D575D6G4D>6 4> =4E>E=>= EF4=F<<, <7 ?>?<MF<?5=>6OE 

=4?>D=OE FDG5 FO65?>7> F<?4 �- 100 SDR 17 110E6,6, 6=GFD5==<< 4<4<5FD>< 96,8  

<<, PN8,  "?<FL56OE" ?> ��%& 18599-2001.         

   -  &G?<>>6O5 >F =4E>E=>= EF4=F<<, <7 ?>?<MF<?5=>6OE =4?>D=OE FDG5 

FO65?>7> F<?4 �- 100 SDR 17  90E5,4, 6=GFD5==<< 4<4<5FD>< 79,2 <<, PN10,  

"?<FL56OE" ?> ��%& 18599-2001.. 

�>=F46=O5 D45>FO 6O?>?=OFL 6 E>>F65FEF6<< E FD55>64=<O<< %�<� 3.01.01-85 

< D4745?4 7.7 %� 40-102-2000 "�D>5>F<D>64=<5 < <>=F46 FDG5>?D>6>4>6 < E<EF5< 

6>4>E=4565=<O < >4=4?<74F<< <7 ?>?<<5D=OE FDG5". 

�4F5D<4? FDG5 ?>4>5D4= E GG5F>< =>D<4F<6=>7> ED>>4 E?G65O FDG5 E 

E>5?N45=<5< ED>>4 E?G65O FDG5 < E>54<=<F5?L=OE 45F4?5=-50 ?5F %�%, 25 ?5F ��% 

(?.11.2 %� 30.13330.2020). &DG5>?D>6>4O < >5>DG4>64=<5, ?D<<5=O5<>5 6 ?D>5>F5, 

<<5NF E5DF<D<>4FO E>>F65FEF6<O E GG5F>< =>D<4F<6=>7> ED>>4 E?G65O FDG5 E 

E>5?N45=<5< ED>>4 E?G65O FDG5 < E>54<=<F5?L=OE 45F4?5=- 50 ?5F (?.11.2 %� 

30.13330.2020). 

7) %6545=<O > >4G5EF65 6>4O 

�4G5EF6> ?D<6>7=>= 6>4O 4>?6=> E>>F65FEF6>64FL %4=�<� 1.2.3685-21 

"%4=<F4D=>-M?<45<<>?>7<G5E><5 FD55>64=<O > E>45D64=<N F5DD<F>D<= 7>D>4E><E < 

E5?LE><E ?>E5?5=<=, > 6>4=O< >5N5>F4<, ?<FL56>= 6>45 < ?<FL56><G 6>4>E=4565=<N 

=4E5?5=<O, 4F<>ED5D=><G 6>74GEG, ?>G64<, 6<?O< ?><5M5=<O<, M>E??G4F4F<< 

?D><76>4EF65==OE, >5M5EF65==OE ?><5M5=<=, >D74=<74F<< < ?D>6545=<N 

E4=<F4D=>-?D>F<6>M?<45<<G5E><E (?D>D<?4>F<G5E><E) <5D>?D<OF<="  

�5D54 74?GE>>< ?D>5>F<DG5<OE E5F5= < >5>DG4>64=<O 6 M>E??G4F4F<N 

=5>5E>4<<> ?D>65EF< >5O74F5?L=GN 457<=D5>F<N < ?D><O6>G E>>DG65=<= 

(D575D6G4D>6 74?4E4 6>4O) < FDG5>?D>6>4>6 6>4>?D>6>44, E >5O74F5?L=O< >>=FD>?5< 

>4G5EF64 6>4O ?5D54 ?>44G5= 6 D4E?D545?<F5?L=GN E5FL E<?4<<. 

<) �5D5G5=L <5D>?D<OF<= ?> >55E?5G5=<N GEF4=>6?5==OE ?>>474F5?5= >4G5EF64 

6>4O 4?O D47?<G=OE ?>FD55<F5?5= 

�4G5EF6> 6>4>E=4565=<O 4>?6=> >55E?5G<645FEO ?>>474F5?O< %4=�<� 

1.2.3685-21. 

>) �5D5G5=L <5D>?D<OF<= ?> D575D6<D>64=<N 6>4O 
 

  $575D6<D>64=<5 6>4O E<EF5<O �2 =4 =4DG6=O5 ?D>F<6>?>64D=O5 =G64O 

6O?>?=O5FEO 6 ?D>5>F<DG5<OE �- 7>D<7>=F4?L=OE D575D6G4D4E, >5N5<>< 60 <³ 
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>464O= (�D<?>65=<5 6), ?<5> 4=4?>7.  �>64D=O5 D575D6G4DO ?D54GE<>FD5=O 6

F5??><7>?OF<< < E M?5>FD>>5>7D56>< (E<. �D<?>65=<5 10) <7 DG?>=>6  K-flex IGO, 

F>?M<=>= 25 << (E<. �D<?>65=<5 9). �5N5< D575D6G4D4 ?>4>5D4= <7 D4EG5F4 =4 

=4DG6=>5 ?>64D>FGL5=<5-108,0 <³ (3 G4E4 FGL5=<O ?>64D4). � >464>< D575D6G4D5 

ED4=<FEO 50% 74?4E 6>4O.  �>EEF4=>6?5=<5 ?>64D=>7> >5N5<4, E>7?4E=> ?.5.18 

%�8.13130.2020,  E>EF46?O5F-36 G4E>6. �4?>?=5=<5-?D<6>7=4O 6>44, E>7?4E=> 

�>7>6>D4  (E<. �D<?>65=<5 1). �4<6OEL<5 < =4<=<7L<5 464D<==O5 ?>64D=O5

>5N5<O 6 D575D6G4D4E D4E?>?>65=O =4 >4=<E >F<5F>4E. 'EF4=>6?5=O 44FG<><

GD>6=5=, <5E4=<G5E><5. � ?>64D=O< D575D6G4D4< >55E?5G5= ?>64D=O= ?D>574 4?O 

?>4N5744 ?>64D=>= F5E=<>< (E<. D4745? ��'). �4 D4E445 744=<O ��� GEF4=>6?5= 

G>474F5?L «�>64D=O= D575D6G4D». �4?<G<5 <>F>?><?O, ED4=OM5=EO 6 744=<< ���, 

>55E?5G<645F >5E?G6<64=<5 ?D>5>F<DG5<OE 744=<=. %<5==>EFL 6>4O, >?>D>6=5=<5

D575D6G4D4- =5 <5=55 1 D47 6 7>4. %F>>< 6O6>7OFEO 6 <5EF4, E>7?4E>64==O5 ?> 

�>7>6>DG (E<. '-79967.1-��%3.1). 

$575D6<D>64=<5 6>4O E<EF5<O �1 =4 E>7O=EF65==>-?<FL56O5 < 6=GFD5==<5 

?D>F<6>?>64D=O5 =G64O 6O?>?=O5FEO 6 ?D>5>F<DG5<OE �- 7>D<7>=F4?L=OE 

D575D6G4D4E, >5N5<>< 35 <³ >464O= (�D<?>65=<5 2), ?<5> 4=4?>7.  %>7O=EF65==>-

?<FL56O5 D575D6G4DO ?D54GE<>FD5=O 6 F5??><7>?OF<< (E<. �D<?>65=<5 ) <7 DG?>=>6 

K-flex IGO, F>?M<=>= 25 << (E<. �D<?>65=<5 12). �5N5< D575D6G4D4 ?>4>5D4= <7

D4EG5F4 D57G?<DGNM57> >5N5<4 6 EGF>< -35,17 <3/G. + ?D>F<6>?>64D=O= 3-E G4E>6>= 

74?4E =4 6=GFD5==55 ?>64D>FGL5=<5 -27<3. 

� >464>< D575D6G4D5 ED4=<FEO 50% 74?4E 6>4O. �4?>?=5=<5, G5D57 7>D?>6<=G-

?D<6>7=>= 6>4>=, E>7?4E=> �>7>6>D4  (E<. �D<?>65=<5 1). �4<6OEL<5 < =4<=<7L<5 

464D<==O5 >5N5<O 6 D575D6G4D4E D4E?>?>65=O =4 >4=<E >F<5F>4E. 'EF4=>6?5=O 

44FG<>< GD>6=5=, <5E4=<G5E><5. �464O= D575D6G4D <<55F ?5D5?<6=>= FDG5>?D>6>4 

< FDG5>?D>6>4 >?>D>6=5=<O, 6 <>>DO= >>?>45F. �?O >55774D46<64=<O 6>74GE4 6 

D575D6G4D4E 74?D>5>F<D>64=4 6>74GE>>5<5==4O GEF4=>6>4 '�-3 (E<. �D<?>65=<5 8). 

� E>7O=EF65==>-?<FL56O<, ?D>F<6>?>64D=O< D575D6G4D4< >55E?5G5= ?D>574

4?O ?>4N5744 E?5FF5E=<>< (E<. D4745? '-79967.1-��'). �D>D<?4>F<G5E>4O 

>5D45>F>4, >?>D>6=5=<5 D575D6G4D>6- =5 <5=55 1 D47 6 7>4. %F>>< 6O6>7OFEO 6 <5EF4,

E>7?4E>64==O5 ?> �>7>6>DG (E<. '-79967.1-��%3.1). 

?) �5D5G5=L <5D>?D<OF<= ?> GG5FG 6>4>?>FD55?5=<O 
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�?O GG5F4 ?> 6>4>?>FD55?5=<N 7>D>4>4 4?O EFD><F5?5=, ?D>5>F>< 

?D54GE<4FD<645FEO GEF4=>6>4: 

-$4EE>4><5D ��$�&-511�, =4 =4?>D=>= 65F>5 6 EF4=F<< E>7O=EF65==>-

?<FL56>7>, ?D>F<6>?>64D=>7> 6>4>E=4565=<O, ?>7.4.3 ?> ��; 

-�>4><5D=O= G75?  E> EG5FG<>>< �%%�4-50 E <<?G?LE=O< 6OE>4>< ?>>474=<=,

=4 66>45 6>4>?D>6>44, 6 �D<E=>< 744=<<, ?>7.42 ?> ��; 

-�>4><5D=O= G75?  E> EG5FG<>>< �%%�4-40 E <<?G?LE=O< 6OE>4>< ?>>474=<=,

=4 66>45 6>4>?D>6>44, 6 >464>5 744=<5 %?4?L=>7> >>D?GE4, ?>7.4.1 ?> ��. 

�5D544G4 44==OE 6O?>?=O5FEO =4 54<=O= 4<E?5FG5DE><= ?G=>F, ��� E<. '-

79967.1-��%5.1. 

<) �?<E4=<5 E<EF5<O 46F><4F<74F<< 6>4>E=4565=<O 

� E>7O=EF65==>-?<FL56>=, ?D>F<6>?>64D=>= =4E>E=>= EF4=F<< (?>7.4.3 ?> ��) 

?D54GE<4FD<645FEO GEF4=>6>4 ?>6OL5=<O 446?5=<O E G4EF>F=O< ?D5>5D47>64F5?5<. 

'?D46?5=<5 >5>DG4>64=<5< =4E>E=>= EF4=F<< >EGM5EF6?O5FEO L>4D4<< G?D46?5=<O 

6 746<E<<>EF< >F 65?<G<=O 7444==>7> 446?5=<O. 

� ?D>F<6>?>64D=>= =4E>E=>= EF4=F<= 4?O =4DG6=>7> ?>64D>FGL5=<O (?>7.4.3.1 

?> ��) ?D54GE<4FD<645FEO GEF4=>6>4 ?>64D=OE =4E>E>6 ?DO<>7> 45=EF6<O. 

'?D46?5=<5 >5>DG4>64=<5< =4E>E=>= EF4=F<< >EGM5EF6?O5FEO L>4D4<< G?D46?5=<O. 

'EF4=>6>< ?>6OL5=<O 446?5=<O >55E?5G<64NF ?>EF>O==>5 446?5=<5 =4 6OE>45, 

=5E<>FDO =4 ?5D5?44O ?>FD55=>7> D4EE>44, >4E>44=>5 G?D46?5=<5 (?>4>?NG5=<5, 

>F>?NG5=<5 =4E>E>6 6 746<E<<>EF< >F 6>4>?>FD55?5=<O), ?D<=G4<F5?L=GN E<5=G

=4E>E>6, ?D>5=O= ?GE> (46F><4F<G5E>< 74?GE>45F =4E>EO =4 =5E>>?L>> E5>G=4),

74M<FG >F «EGE>7> E>44», EF>?-DG=>F<N, ?>76>?ONMGN >EF4=>6<FL ?>E?54=<= =4E>E

?D< <4?>< D4EE>45 6>4O, D>D<<D>64=<5 E<7=4?>6 «� D45>F5», «�64D<O» 4?O 

4<E?5FG5D<74F<<. 

�D54GE<4FD<645FEO 46F><4F<G5E>>5 6O>?NG5=<5 =4E>E=OE GEF4=>6>> ?<FL56>= 

6>4O 6 746<E<<>EF< >F GD>6=O 6>4O 6 D575D6G4D4E G<EF>= 6>4O ?D< 4>EF<65=<<

<<=<<4?L=>7> GD>6=O.

�4 =4?>D=OE ?4FDG5>4E =4E>E=OE GEF4=>6>>, 4 F4>65 =4 =4?>D=OE 

FDG5>?D>6>44E ?>E?5 =4E>E>6 ?D54GE<4FD<645FEO <7<5D5=<5 446?5=<O. 

� D575D6G4D4E =4E>E=OE EF4=F<= (?>7.4.3, 4.3.1 ?> ��) ?D54GE<4FD<645FEO 

<7<5D5=<5 <4>E<<4?L=>7> GD>6=O 6>4O. �D< 4>EF<65=<5 <4>E<<4?L=>7> GD>6=O 

?D54GE<>FD5=4 ?>44G4 E65F>6>7> < 76G>>6>7> E<7=4?4 6 4<E?5FG5DE><= ?G=>F < =4 

M<F ?> <5EFG GEF4=>6><, 4 F4>65 D47D5L5=<5 =4 6>?NG5=<5 =4E>E=>= GEF4=>6>< 

?>6OL5=<O 446?5=<O. �D< 4>EF<65=<< <<=<<4?L=>7> GD>6=O, ?D54GE<>FD5=4 ?>44G4 

E65F>6>7> < 76G>>6>7> E<7=4?4 6 4<E?5FG5DE><= ?G=>F < =4 M<F ?> <5EFG GEF4=>6><, 4 

F4>65 E<7=4? =4 >F>?NG5=<5 =4E>E=OE GEF4=>6>> ?>6OL5=<O 446?5=<O. 
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%<EF5<4 G?D46?5=<O =4E>E=OE GEF4=>6>> ?>44G< 6>4O =4 E>7-?<FL56O5, 

?D>F<6>?>64D=O5 =G64O 6O?>?=O5F E?54GNM<5 DG=>F<<: 

- 46F><4F<G5E><= ?GE>, >F>?NG5=<5 >E=>6=>7> D45>G57> =4E>E4 6 746<E<<>EF< 

>F 446?5=<O 6 E<EF5<5; 

- ?>445D64=<5 FD55G5<>7> 446?5=<O 6 E<EF5<5 E ?><>MLN G4EF>F=OE 

?D5>5D47>64F5?5=, ?<F4NM<E =4E>E=O5 47D574FO; 

- 4<EF4=F<>==O= ?GE> =4E>E>6 E ?G?LF4 G?D46?5=<O 6 ?><5M5=<< 

4<E?5FG5DE>>= ?> <=F5DD5=E=>= ?<=<< E6O7<; 

- E65F>76G>>64O E<7=4?<74F<O ?D< >F>?NG5=<< >E=>6=>7> D45>G57> =4E>E4 < 

?5D544GG E>>F65FEF6GNM57> E<7=4?4 =4 ?G?LF 4<E?5FG5D4 ?> <=F5DD5=E=>= ?<=<< 

E6O7<; 

- 46F><4F<G5E>>5 6>?NG5=<5 D575D6=>7> =4E>E4 ?D< >F>475 >E=>6=>7> D45>G57> 

=4E>E4; 

- ?5D56>4 G?D46?5=<O 6 «<5EF=>5» < G?D46?5=<5 =5?>ED54EF65==> E> L>4D4 

G?D46?5=<O ?D< ?D>6545=<< =4?44>G=OE, D5<>=F=OE < ?D>D<?4>F<G5E><E D45>F; 

- >>=FD>?L GD>6=5= 6 D575D6G4D4E G<EF>= 6>4O < =4>>?<F5?L=>= 5<>>EF< 4?O 

?D54>F6D4M5=<O ?GE>4 =4E>E>6 «6 EGEGN»; 

- >>=FD>?L 446?5=<O =4 =4?>D=OE ?<=<OE =4E>E>6; 

- >>=FD>?L ?D545?L=>7> 446?5=<O =4 6E4EO64NM5= ?<=<< =4E>E>6; 

- >>=FD>?L D4EE>44 =4 >464>= ?<=<< >F6>44 >F =4E>E=>= EF4=F<< > 

?>FD55<F5?O<; 

- ?5D544G4 4<47=>EF<G5E>>= <=D>D<4F<< D45>FO >5>DG4>64=<O 6 

4<E?5FG5DE>GN ?> <=F5DD5=E=>= ?<=<< E6O7<. 

$56<<O D45>FO =4E>E=OE GEF4=>6>> =4E>E=OE EF4=F<=: 

1. �>D<4?L=O= D56<< D45>FO, ?D54GE<4FD<645FEO: 

-  D45>F4 24 G4E4 6 EGF>< 365 4=5= 6 7>4G. �4E>EO D45>F4NF 6 D57G?<DGNM5< 

>5N5<5 6>4O 6 $'�; 

- >F>?NG5=<5 =4E>E>6 - 46F><4F<G5E>< ?> 44FG<>G 446?5=<O =4 =4?>D=>< 

FDG5>?D>6>45 ?D< ?D56OL5=<< 446?5=<O. 

- 6>?NG5=<5 =4E>E>6 - 46F><4F<G5E>< ?> 44FG<>G 446?5=<O =4 =4?>D=>< 

FDG5>?D>6>45 ?D< E=<65=<< 446?5=<O. 

- ��$; 

- =4D45>F>4 <>F>G4E>6. 

2. $56<< «�64D<O - 4>EF<65=<5 «<<=<<4?L=>7> GD>6=O» 6 $'�: 

- >F>?NG5=<5 =4E>E>6 - 46F><4F<G5E>< ?> 44FG<>G GD>6=O 6>4O 6 $'� 3 

«<<=<<4?L=O= GD>65=L»  

- 6>?NG5=<5 =4E>E>6 < ?5D56>4 6 46F><4F<G5E><= D56<< D45>FO 6DGG=GN ?>?5 

6OOE=5=<O >5EF>OF5?LEF6. 

�D54GE<4FD<645FEO ?>EF>O==4O ?5D544G4 E<7=4?4 6 �� (E65F>6>=, 76G>>6>=): 

- D45>F4/ =5 D45>F4; 

- 464D<O. 
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�O?>?=5=<5 G>474==OE DG=>F<= >55E?5G<645FEO G5F>>= G6O7>>= D45>FO 6E5E 

E<EF5<, GF> 4>EF<745FEO >><??5>E>< F5E=<G5E><E ED54EF6 46F><4F<74F<< G?D46?5=<O. 
 

=) �5D5G5=L <5D>?D<OF<= ?> >55E?5G5=<N E>5?N45=<O GEF4=>6?5==OE 

FD55>64=<= M=5D75F<G5E>>= MDD5>F<6=>EF< > GEFD>=EF64<, F5E=>?>7<O< < 

<4F5D<4?4<, <E?>?L7G5<O< 6 E<EF5<5 E>?>4=>7> 6>4>E=4565=<O, ?>76>?ONM<E 

<E>?NG<FL =5D4F<>=4?L=O= D4EE>4 6>4O, 5E?< F4><5 FD55>64=<O 

?D54GE<>FD5=O 6 7444=<< =4 ?D>5>F<D>64=<5 

 

�?O ?>6OL5=<O M=5D7>MDD5>F<6=>EF<, ?D>5>F>< ?D<=OFO E?54GNM<5 

<5D>?D<OF<O: 

-GEFD>=EF6> G7?>6 GG5F4; 

-GEF4=>6>4 =4E>E>6 E G4EF>F=O< D57G?<D>64=<5<; 

-GEFD>=EF6> >F>?NG4NM5= 4D<4FGDO =4 <47<EFD4?L=OE ?<=<OE 6>4>?D>6>44 

(DGG=>5, 46F><4F<G5E>>5 G?D46?5=<5); 

->?F<<<74F<O 7<4D46?<G5E><E D56<<>6 < 4<4<5FD>6 FDG5>?D>6>4>6. 

-4?O ?D54>F6D4M5=<O >>=45=E4F<< 6?47< < ?>F5D< F5??4, D476>4OM<5 

FDG5>?D>6>4O < EF>O>< E<EF5< 6>4>E=4565=<O 74M<M4NFEO <7>?OF<5= «K-flex» < 

M?5>FD>>5>7D56><. 

�E?>?L7>64=<5 E>6D5<5==OE <4F5D<4?>6 < >5>DG4>64=<O ?>76>?O5F >55E?5G<FL 

4>?7<= 557464D<==O= ED>> E?G65O E5F5=, E=<7<FL 74FD4FO =4 D5<>=F. �E5 ?D<=OFO5 

?D>5>F=O5 F5E=<G5E><5 D5L5=<O 65?<EL E GG5F>< 6O5>D4 >?F<<4?L=OE 

M=5D7>E55D574NM<E ?4D4<5FD>6 <  F5E=<>>-M>>=><<G5E><E ?>>474F5?5=. 

 

=(1)) ?5D5G5=L <5D>?D<OF<= ?> >55E?5G5=<N E>5?N45=<O GEF4=>6?5==OE 

FD55>64=<= M=5D75F<G5E>>= MDD5>F<6=>EF< > GEFD>=EF64<, F5E=>?>7<O< < 

<4F5D<4?4<, <E?>?L7G5<O< 6 E<EF5<5 7>DOG57> 6>4>E=4565=<O, ?>76>?ONM<E 

<E>?NG<FL =5D4F<>=4?L=O= D4EE>4 6>4O < =5D4F<>=4?L=O= D4EE>4 

M=5D75F<G5E><E D5EGDE>6 4?O 55 ?>47>F>6><, 5E?< F4><5 FD55>64=<O 

?D54GE<>FD5=O 6 7444=<< =4 ?D>5>F<D>64=<5 

 

�6<4G >FEGFEF6<O F5=FD4?<7>64==OE E5F5= &% =4 ??>M44>5 EFD><F5?LEF64 

7>D>4>4 4?O EFD><F5?5=, ?D>5>F>< ?D54GE<4FD<645FEO GEF4=>6>4 6>4>=47D564F5?5= 

=4>>?<F5?L=>7> F<?4 6 %?4?L=OE >>D?GE4E < �D<E=>< 744=<<. �5N5< 5<>>EF=OE 

6>4>=47D564F5?5= >55E?5G<645F 7>DOG<< 6>4>E=4565=<5< ?>FD55<F5?5=, D4EG5F 

6O?>?=5= E>7?4E=> %?D46>G=<>4 ?D>5>F<D>64=<O «�>4>E=4565=<5 < 6>4>>F6545=<5» 

?>4 D544>F<5= �. �. &G74O, �<56, 19827.) 

 

>) �?<E4=<5 E<EF5<O 7>DOG57> 6>4>E=4565=<O 
 

�>DOG55 6>4>E=4565=<5, 4?O ?>44G< 6>4O > ?>FD55<F5?O< 6O?>?=5=>  ?> 

74>DOF>= EE5<5 >F 6>4>=47D564F5?5= =4>>?<F5?L=>7> F<?4. %>7?4E=> %� 
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30.13330.2020 F5<?5D4FGD4 7>DOG5= 6>4O 6 <5EF4E 6>4>D475>D4 4>?6=4 

E>>F65FEF6>64FL FD55>64=<O< %4=�<� 2.1.4.1074 < %4=�<� 2.1.4.2496 < E>EF46?O5F 

=5 =<65 65°% < =5 6OL5 75°%. 

�44=<5 ��� 6=GFD5==<<< E5FO<< ��% =5 >E=4M45FEO. �?O E>7O=EF65==> 

5OF>6OE =G64, 4?O E>FDG4=<>>6 >ED4=O, ?D54GE<4FD<645FEO G?<G=O= FG4?5F 

«�><D>DF» (E<. �D<?>65=<5 7).  E GEF4=>6>>= G=<F474, G<O64?L=<>4 E 

6>4>=47D564F5?5< < E5>D=>= 5<>>EFLN 4?O 5OF>6OE EF>>>6, >5N5<>< 260?. 
 

$4EG5F >5N5<4 5<>>EF5= 6>4>=47D564F5?5= 

(E?D46>G=<> ?D>5>F<D>64=<5 «�>4>E=4565=<5 < 6>4>>F6545=<5» ?>4 D544>F<5= 

�. �. &G74O, �<56, 19827.) 
 

�D<E=>5 744=<5  

?><.106 

Q7.6.=qE<(tE<-tx)=4,19E12(37-5)= 1608,96 >�6= 384,55>>4?; 

V=384,55:(80-5)=5,12<3 

�45,  Q7.6 3=5>5E>4<<O= 74?4E F5??4 6 54>5 4>>G<G?OF>D5; 

qE<-D4EE>4 E<5L4==>= 7>DOG5= 6>4O 4?O >4=>= 4GL56>= E5F><=12?,  

tE<- ED54=OO F5<?5D4FGD4 7>DOG5= 6>4O=37°%; 

tE<- F5<?5D4FGD4 E>?>4=>= 6>4O=5°%; 

t7-4>?GE>45<O= =47D56=80°%; 

�D>5>F>< ?D<=<<45FEO 6>4>=47D564F5?L =4>>?<F5?L=>7> F<?4 >5N5<>< 15?, 

�$�%&��, ABC Andris lux 15 OR, 1,2>�F, 230�, ?<5> 4=4?>7. 

?><.121 

Q7.6.=qE<(tE<-tx)=4,19E78(37-5)= 10458,24 >�6= 2499,6>>4?; 

V=2499,6:(80-5)=33,3? 

�D< 54<=>6D5<5==>= D45>F5 4-E G<O64?L=<>>6 (0,48?), 1-7> ?>?<6>G=>7> 

>D4=4(0,3?), D4EE>4 E>EF46?O5F- 78?.  �D>5>F>< ?D<=<<45FEO 6>4>=47D564F5?L 

=4>>?<F5?L=>7> F<?4 >5N5<>< 30?, �$�%&��, ABC Andris lux 30 OR, 1,2>�F, 230�, 

?<5> 4=4?>7. 

?><.106 

Q7.6.=qE<(tE<-tx)=4,19E750(37-5)= 100560 >�6= 24034>>4?; 

V=24034:(80-5)=320,4? 

�D< 54<=>6D5<5==>= D45>F5 10-F< 4GL56OE E5F>> 6 F5G5=<< 15-20<<=, D4EE>4 

E>EF46?O5F- 750?.  �D>5>F>< ?D<=<<45FEO  3-< 6>4>=47D564F5?O =4>>?<F5?L=>7> F<?4 

>5N5<>< 100?, �$�%&��, ABC Velis evo inox PW 100 D, 2,5>�F, 230�, ?<5> 4=4?>7. 
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?><.111 

Q7.6.=qE<(tE<-tx)=4,19E48(37-5)= 6435,5 >�6= 1538,1>>4?; 

V=1538,1:(80-5)=20? 

�D< 54<=>6D5<5==>= D45>F5 3-E G<O64?L=<>>6 (0,48?), D4EE>4 E>EF46?O5F- 48?. 

�D>5>F>< ?D<=<<45FEO 6>4>=47D564F5?L =4>>?<F5?L=>7> F<?4 >5N5<>< 30?,

�$�%&��, ABC Andris lux 30 OR, 1,2>�F, 230�, ?<5> 4=4?>7. 

?><. %F>?>6>= 

�> 7444=<N D4745?4 &%, ?D>5>F>< ?D54GE<>FD5=4 GEF4=>6>4 6>4>=47D564F5?5

=4>>?<F5?L=>7> F<?4, 6 ?><5M5=<O <>5> 7DO7=>= ?>EG4O, 6 >>?<G5EF65 2 LF, 

>5N5<>< 100?, �$�%&��, ABC Velis evo inox PW 100 D, 2,5>�F, 230�, ?<5> 4=4?>7. 

�44=<O %?4?L=OE >>D?GE>6 

?><.104, 105 

Q7.6.=qE<(tE<-tx)=4,19E173(37-5)= 23195,8 >�6= 5543,9>>4?; 

V=5543,9:(80-5)=73,9? 

�D< 54<=>6D5<5==>= D45>F5 12-F< G<O64?L=<>>6 (1,44?), 1-7> ?>?<6>G=>7> 

>D4=4(0,3?), D4EE>4 E>EF46?O5F- 173?. �D>5>F>< ?D<=<<45FEO 6>4>=47D564F5?L

=4>>?<F5?L=>7> F<?4 >5N5<>< 80?, �$�%&��, ABC Velis evo inox PW 80 D, 2,5>�F,

230�, ?<5> 4=4?>7. 

?) �?<E4=<5 < >5>E=>64=<5 ?D>5>F=OE D5L5=<=, =4?D46?5==OE =4 E>5?N45=<5 

FD55>64=<= F5E=>?>7<G5E><E D57?4<5=F>6  

�D>5>F>< 6O?>?=ONFEO <5D>?D<OF<O, =4?D46?5==O5 =4 E>5?N45=<5 FD55>64=<=

F5E=>?>7<G5E>>7> D57?4<5=F4, 6 F>< G<E?5: 

-�4E>EO 74?GE>4NFEO 6 DGG=>< D56<<5 ?D< =56OE>45 =4 D45>G<5 ?4D4<5FDO

>4=>7> <7 D45>G<E =4E>E>6.

-�E5 E<7=4?O 464D<< 6O6545=O =4 65DE=<= GD>65=L E<EF5<O, =4E>4OM5=EO 6

4<E?5FG5DE>>< ?G=>F5. 

-�?O ?>445D64=<O D45>G57> 446?5=<O 6 E<EF5<4E, =4E>E=O5 GEF4=>6><

>5>DG4GNFEO <5<5D4==O<< 54>4<<.

?(1)) $4EG5F=O= D4EE>4 7>DOG5= 6>4O 

�>D<O 6>4>?>FD55?5=<O =4 =G64O ��% ?> ?>FD55<F5?O<  ?D<=OFO  ?> F45?.�.2 

%� 30.13330.2020, ?D54EF46?5=O 6 &45?<F5 1. «�4?4=E 6>4>?>FD55?5=<O <
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6>4>>F6545=<O ?> >5N5>FG >4?<F4?L=>7> EFD><F5?LEF64 - 4?O >5N5>F>6 

=5?D><76>4EF65==>7> =47=4G5=<O» 

&D55G5<O= =4?>D 6 E<EF5<5 ��% ?D< 74>DOF>= EE5<5 >55E?5G<645FEO =4E>E=>= 

EF4=F<5= E>?>4=>7> 6>4>E=4565=<O (?>7.4.3 ?> ��). 

D) �?<E4=<5 E<EF5<O >5>D>F=>7> 6>4>E=4565=<O < <5D>?D<OF<=, 

>55E?5G<64NM<E ?>6F>D=>5 <E?>?L7>64=<5 F5??4 ?>4>7D5F>= 6>4O 

�44=<5 =5 O6?O5FEO >5N5>F>< ?D><76>4EF65==>7> =47=4G5=<O. $4745? =5 

D47D454FO645FEO. 

 

E) �4?4=E 6>4>?>FD55?5=<O < 6>4>>F6545=<O ?> >5N5>FG >4?<F4?L=>7> 

EFD><F5?LEF64 6 F5?>< < ?> >E=>6=O< ?D><76>4EF65==O< ?D>F5EE4< - 4?O 

>5N5>F>6 ?D><76>4EF65==>7> =47=4G5=<O 

�44=<5 =5 O6?O5FEO >5N5>F>< ?D><76>4EF65==>7> =47=4G5=<O. $4745? =5 

D47D454FO645FEO. 

F) �4?4=E 6>4>?>FD55?5=<O < 6>4>>F6545=<O ?> >5N5>FG >4?<F4?L=>7> 

EFD><F5?LEF64 3 4?O >5N5>F>6 =5?D><76>4EF65==>7> =47=4G5=<O 

$4EG5F=O5 D4EE>4O 6>4O < >4=4?<74F<<  E6545=O  6 &45?<F5 1. «�4?4=E 

6>4>?>FD55?5=<O < 6>4>>F6545=<O ?> >5N5>FG >4?<F4?L=>7> EFD><F5?LEF64 - 4?O 

>5N5>F>6 =5?D><76>4EF65==>7> =47=4G5=<O» 

 

F(1)) �5>E=>64=<5 6O5>D4 >>=EFDG>F<6=OE < <=65=5D=>-F5E=<G5E><E D5L5=<=, 

<E?>?L7G5<OE 6 E<EF5<5 6>4>E=4565=<O, 6 G4EF< >55E?5G5=<O E>>F65FEF6<O 

744=<=, EFD>5=<= < E>>DG65=<= FD55>64=<O< M=5D75F<G5E>>= MDD5>F<6=>EF< < 

FD55>64=<O< >E=4M5==>EF< <E ?D<5>D4<< GG5F4 <E?>?L7G5<OE M=5D75F<G5E><E 

D5EGDE>6 (74 <E>?NG5=<5< 744=<=, EFD>5=<=, E>>DG65=<=, =4 >>F>DO5 

FD55>64=<O M=5D75F<G5E>>= MDD5>F<6=>EF< < FD55>64=<O >E=4M5==>EF< <E 

?D<5>D4<< GG5F4 <E?>?L7G5<OE M=5D75F<G5E><E D5EGDE>6 =5 D4E?D>EFD4=ONFEO) 
 

�?O GG5F4 6>4>E=4565=<O 6 ?D>5>F<DG5<>= =4E>E=>= EF4=F<< E>7O=EF65==>-

?<FL56>7> 6>4>E=4565=<O (?>7.4.3. ?> ��) ?D54GE<4FD<645FEO D4EE>4><5D ��$�&-

511�, 4 F4> 65, 6 ?D>5>F<DG5<OE 744=<OE %?4?L=OE >>D?GE>6 < �D<E=>7> 744=<O, 

GEF4=46?<64NFEO 6>4><5D=O5 G7?O E> EG5FG<>4<< �%%�4 E <<?G?LE=O<< 6OE>44<< 

?>>474=<=. �5D544G4 44==OE 6O?>?=O5FEO 6 4<E?5FG5DE><= ?G=>F, ���. 

F(2)) �?<E4=<5 <5EF D4E?>?>65=<O ?D<5>D>6 GG5F4 <E?>?L7G5<>= E>?>4=>= < 

7>DOG5= 6>4O < GEFD>=EF6 E5>D4 < ?5D544G< 44==OE >F F4><E ?D<5>D>6 
 

 �5D544G4 44==OE >F ?D<5>D>6 GG5F4 6O?>?=O5FEO =4 54<=O= 4<E?5FG5DE><= 

?G=>F, ���, E<. '-79967.1-��%5.1 
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�>EFG? > ?D<5>D4< GG5F4 6O?>?=OFL >5E?G6<64NM5<G ?5DE>=4?G, 

>F65FEF65==O< ?<F4<.
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&45?<F4 D57<EFD4F<< <7<5=5=<= 

�7<. 

�><5D4 ?<EF>6 (EFD4=<F) �E57> 

?<EF>6 6 

4>>G<. 

�><5D 

4>>G<5=

F4 

�>4?<EL �4F4 <7<5=U=

=OE 

74<5=U=

=OE 
=>6OE 

�==G?<D

>64==OE



24,85
24,60

0,000
25,00

24,85
24,90

24,85
24,60

24,85
21,00

24,85
23,45

24,85
24,80

0,000
25,00

24,85
22,00

24,85
20,14

24,85
16,80

24,85
19,30

0,000
25,00

24,85
22,20

24,85
22,30

24,85
19,70

24,85
19,70

0,000
25,00

24,85
24,30

24,85
22,20

24,85
23,1024,85

24,50

24,85
23,20

24,85
23,45

24.50
24,85

26,90
27,10

24,70
25,20

24,60
24,80

24,00
21,60

24,40
18,80

24,70
20,20

25,00
21,00

24,70
17,50

24,70
24,90

24,40
22,90

25,00
22,50

0,000
25,00

18,00
15,00

19,50
19,50

2

1

�

�

4.1

4.1

4.1

4.1

4.2

4.3.1
4.5.1

4.5

4.4

4.3

��-1

��-1

4.9

4.5.2

4.6

��

�>?>45F E
7446<6>>=

  2

  1

  3

  4

  �1
�90

  �1
�90

  �1
�90

  �1
�90

  �1
�50

  �1
�50

  �1
�50

  �1
�50

  �1
�110

  �1
�75

  �2
�110

  �2
�160

'>474F5?L ��
$GF?OD ��� �315

->E??<>4F<O 744=<= < E>>DG65=<=

�><5D
?>

??4=G
�4<<5=>64=<5 �D<<5G4=<5

1 �D5<5==>5 >7D4645=<5 F5DD<F>D<< ?D>5>F

2 �44=<5 6D5<5==>7> ��� ?D>5>F

3 �D5<5==K5 >G<EF=K5 E>>DG65=<O ?>65DE=>EF=KE EF>>>6; ?D>5>F

4
�>D>4>> EFD><F5?5= =4 384 G5?. 6 E>EF465 (6D5<5==K5 E>>DG65=<O =4
?5D<>4 EFD><F5?LEF64) ?D>5>F

4.1 �D<E=>5 744=<5 ?D>5>F

4.2 %?4?L=K= >>D?GE <=>EFD4==KE D45>G<E =4 96 G5?. (4 54.) ?D>5>F

4.3 �4E>E=4O E D575D6G4D4<< ?D>5>F

4.3.1 �4E>E=4O EF4=F<O ?D>F<6>?>64D=>7> 6>4>E=4565=<O E D575D6G4D4<<
74?4E4 6>4K

?D>5>F

4.4 �<>>EFL =4>>?<F5?L E>7O=EF65==>-5KF>6KE EF>>>6 ?D>5>F

4.5 �<>>EFL =4>>?<F5?L ?>65DE=>EF=KE EF>>>6 ?D>5>F

4.5.1 �<>>EFL -GED54=<F5?L 4>6456KE < F4?KE 6>4 (V=110<³) ?D>5>F

4.5.2 �>>4?L=>->G<EF=K5 E>>DG65=<O 4>6456KE < F4?KE 6>4 (��%) ?D>5>F

4.6 �&�� ?D>5>F

4.9 �446>D=K= FG4?5F (>><??5>F=4O ?>EF46>4) ?D>5>F

5.1
�D5<5==K5 >F>DKFK5 E>?44E><5 ??>I44>< 4?O <5F4??>>>=EFDG>F<= <
>5>DG4>64=<O ?D>5>F

5.2 %>>DG65=<O ?D><76>4EF65==>-6E?><>74F5?L=>7> =47=4G5=<O ?D>5>F

6 �>4>>F6>4=K5 >4=46K 64>?L 7D4=<F F5DD<F>D<< <=65=5D=>= ?>47>F>6>< ?D>5>F

7 �D5<5==>5 >7D4645=<5 ��� ?D>5>F

� �?>I44>4 4?O >F4KE4 ?D>5>F

� �?>I44>4 4?O ?4D>>6>< 46F><>5<?5= ?D>5>F

�>?.GG. N°4>> �>4?<EL �4F4

�

%F44<O �<EF �<EF>6
�D>65D.
$47D45.
�7<. �<EF

�.>>=FD.

01.18

01.18

01.18

«%FD><F5?LEF6> �D<<>DE>>7> <5F4??GD7<G5E>>7> 746>44 =4 F5DD<F>D<<
7>D>4E>>7> >>DG74 �>?LH>= �4<5=L �D<<>DE>>7> >D4O»
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�>46>4OM<5 < >F6>4OM<5 FDG5>?D>6>4O D5>><5=4G5FEO ?>4E>54<=OFL ?> <5D5 
>5D4F=>= 74EO?>< GF>5O <<=<<<7<D>64FL D<E> <E ?>6D5645=<= EFD><F5?L=>= 
F5E=<>>=, 6O?>?=ONM5= 74EO?>G. 

 
�D< =5>5E>4<<>EF< D47<5M5=<O 5<>>EF< ?>4 ?D>5765= G4EFLN, =44 >>D?GE>< 
6O?>?=O5FEO <>=>?<F=4O 6/5 ??<F4 <7 4D<<D>64==>7> 55F>=4, 4 EF5>?>??4EF<>>6O5 
?N>< 74<5=ONFEO =4 GG7G==O5 ?> ��%& 3634-79. 

 
�D><76>4<FEO M?5>FD>?>4>?NG5=<5 ?D>6>4>6 EF4=F<< > L>4DG G?D46?5=<O 6 
E>>F65FEF6<< E M?5>FD<G5E>>= EE5<>= 6 L>4DG G?D46?5=<O. 

�E65M5=<5, >F>??5=<5 < 4DG7<5 M?5>FD<G5E><5 ?D<5>DO =5>5E>4<<> ?>4>?NG<FL > 
L>4DG G?D46?5=<O. 

'EF4=46?<645< 4D5=46=O= =4E>E 6 ?D<O<>>, ?>4E>54<=O5< FDG5>?D>6>4 > 4D5=46=><G 
?4FDG5>G < ?>4>?NG45< 57> > L>4DG G?D46?5=<O. 

�>46>4<< >E=>6=>5 < D575D6=>5 ?<F4=<5 > L>4DG G?D46?5=<O < 75D<5F<7<DG5< 
>455?L=O5 66>4O EFD><F5?L=O< 75D<5F<>><. 

�D><76>4<FEO >>>=G4F5?L=4O =4?44>4 EF4=F<< E>7?4E=> D57?4<5=FG EF4=F<<. 

 

'%����/ ���&��� 

��������: 'EF4=>6>4 <>=F<DG5FEO 6 EGEGN ?>7>4G ?D< >FEGFEF6<< >E44>>6, ?<5> ?D< <>=F465 
GEF4=46?<645FEO F5=F. 



 

��� «-��&�-&5=FD» 

   

&�%��'�%��� ��%�'������� 
 

%?54G5F ?D><76>4<FL 6<7G4?L=O= >E<>FD 5<>>EF< =4 =4?<G<5 ?>6D5645=<= =5 D565 1 
D474 6 <5EOF. 

$45>FO ?> F5E=<G5E>><G >5E?G6<64=<N >5>DG4>64=<O: 

1. �5E?G6<64=<5 =4E>E=>= G4EF<: 

÷ >E<>FD 6=5L=57> 6<44 =4E>E=>= G4EF<, ?D>65D>4 =4 =4?<G<5 6>74GE4, 6<7G4?L=4O 
?D>65D>4 EFO>>6 < E>54<=5=<= =4 =4?<G<5 GF5G5>; 

÷ >>=FD>?L G??>F=5=<= 64?4 6 E?GG45 =4E>E4 E F>DF56O< G??>F=5=<5< <?< 
?D>65D>4 E4?L=<>>6>7> G??>F=5=<O; 

÷ ?D>65D>4 E>EF>O=<O 6>?44OL5= <GDF < F5=FD>6>4 <GDF ?D< =5>5E>4<<>EF<; 

÷ ?D>65D>4 74FO6>< 6E5E 5>?F>6 < 745> =4 >>D?GE5 =4E>E4; 

÷ >>=FD>?L =4?D46?5=<O 6D4M5=<O D>F>D4; 

÷ D57G?<D>6>4 D45>G5= F>G>< =4E>E4; 

÷ 4<47=>EF<>4 E>EF>O=<O ?>4L<?=<>>6. 

 

2. �5E?G6<64=<5 M?5>FD<G5E>>= G4EF<: 

÷ >>=FD>?L E>?D>F<6?5=<O <7>?OF<<, >5<>F>> < >455?5=; 

÷ >>=FD>?L GEF4=>6>< 6D5<5=< ?5D5>?NG5=<O Y - & ?D< =4?<G<< E>>F65FEF6GNM5= 
4??4D4FGDO ?5D5>?NG5=<O; 

÷ >>=FD>?L ?D46<?L=>EF< GEF4=>6>< 7=4G5=<O F>>4 =4 D5?5 F5??>6>= < F>>>6>= 
74M<FO 46<74F5?O. 

÷ 74FO6>4 6E5E >>=F4>F>6. 

÷ >>=FD>?L ?4D4<5FD>6 D45>FO < GEF4=>6?5==OE 7=4G5=<= =4 L>4D4E G?D46?5=<O 
GEF4=>6>>, >>=FD>?L 7=4G5=<= D47=OE F>>>6; 

÷ ?D>65D>4 D45>FO 46F><4F<>< < 55 =4EFD>=>4 ?D><76>4<FEO 6 746<E<<>EF< >F F<?4 
GEF4=>6><. 

 

��$/ ������%��%&� 
$45>F=<>4<, M>E??G4F<DGNM<< 44==>5 >5>DG4>64=<5 E?54G5F 6O?>?=OFL FD55>64=<5 
F5E=<>< 557>?4E=>EF<, >?<E4==O5 6 ?4E?>DF5 =4 =4E>E=GN GEF4=>6>G, ?D<?474NM<=EO > 
>5>DG4>64=<N. 
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%�$&�$���&/ 
�<5NFEO 6E5 =5>5E>4<<O5 E5DF<D<>4FO.  

÷ %5DF<D<>4F E>>F65FEF6<O 

 

��$��&���/� ��/��&��,%&�� 
�4D4=F<==O= ED>>, GEF4=>6?5==O= =4 F>64D E F>D7>6O< 7=4>>< �����$�, E>EF46?O5F  
1 7>4 E <><5=F4 ?D>446<. 

�4D4=F<==O= ED>> =4 ?D>6545==O5 <>=F46=O5 D45>FO GEF4=46?<645F >D74=<74F<O, 
>EGM5EF6<6L4O <>=F46. 

�4D4=F<O =5 D4E?D>EFD4=O5FEO =4 F>64D, ?>?GG<6L<= ?> 6<=5 ?>?L7>64F5?O 
<5E4=<G5E><5 ?>6D5645=<O. 

�4D4=F<O =5 D4E?D>EFD4=O5FEO =4 F>64D, ?>?GG<6L<= ?>6D5645=<O ?> ?D<G<=5 
<E?>?L7>64=<O E =4DGL5=<5< ?D46<?, G>474==OE 6 44==>< DG>>6>4EF65. 

 

'%����/ ��$��&�� 

�745?<5 6O?>?=5=> 6 E>>F65FEF6<< E F5E=<G5E><<< GE?>6<O<< &' 28.29.12-007-
13226007-2022 < 4DG7>= =>D<4F<6=>= 4>>G<5=F4F<5=, ?D<<5=O5<>= > 44==><G F<?G 
<745?<=. 

�4D4=F<O ?D54GE<4FD<645F 55E??4F=O= D5<>=F <?< 74<5=G <745?<O ?D< =4?<G<< 
45D5>F>6, 6>7=<>L<E ?> 6<=5 ?D><76>4<F5?O. 

�> D57G?LF4F4< ?D>6545==>= M>E?5DF<7O E>EF46?O5FEO 4>F, ?>4?<EO645<O= 
?D54EF46<F5?O<< EF>D>=. ->E?5DF<74 <745?<O 6 E?GG45 =5 ?>4F65D645=<O 74O6?5==OE 
?D5F5=7<= > 57> D45>F>E?>E>5=>EF< < >FEGFEF6<O 45D5>F>6, 6>7=<>L<E ?> 6<=5 
?D><76>4<F5?O, O6?O5FEO ??4F=>= GE?G7>= < >??4G<645FEO �?445?LF5< <745?<O. 

 

�4D4=F<O =4 <745?<5 =5 D4E?D>EFD4=O5FEO: 

÷ 6 E?GG45 ?>6D5645=<=, ?>?GG5==OE 6 ?D>F5EE5 ?>7DG7><, FD4=E?>DF<D>6>< < 
6O7DG7>< �>>G?4F5?5<; 

÷ 6 E?GG45 ?>6D5645=<=, ?>?GG5==OE 6 ?D>F5EE5 ?D>6545=<O D45>F ?> GEF4=>6>5 < 
?>4>?NG5=<N; 

÷ 6 E?GG45 ?>6D5645=<=, ?>?GG5==OE 6 ?D>F5EE5 M>E??G4F4F<<, 
=5E>>F65FEF6GNM5= =5>5E>4<<O< FD55>64=<O<, >474==O< 6 DG>>6>4EF65 ?> 
M>E??G4F4F<< < 4DG7>= F5E=<G5E>>= 4>>G<5=F4F<<, ?>?GG5==>= ?D< ?>>G?>5. 

÷ �745?<5 =5 ?D54=47=4G5=> 4?O GEF4=>6>< < M>E??G4F4F<< 6 E?>6=OE GE?>6<OE 
(6OE>><= GD>65=L 7DG=F>6OE 6>4, =5EF45<?L=O5 < <5D7?O5 7DG=FO), 5E?< <=O5 
=5 5O?< G>474=O 6 >?D>E=>< ?<EF5. 
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�����$�-%��, 65DF<>4?L=O=,  3000*4000 << (&� 7 46860) 

�745?<5 E>>F65FEF6G5F &' 28.29.12-007-13226007-2022 < ?D<7=4=> 7>4=O< 4?O 
M>E??G4F4F<<. 

�4F4 <77>F>6?5=<O _____________ 

 

�F65FEF65==O= 74 ?D<5<>G E>FDG4=<> 

                                                           &<<>D556 �.�.                                           . 

$4<<?<O �.�. 
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195027, %4=>F-�5F5D5GD7, 6=.F5D.7. �G=<F<?4?L=O= >>DG7 �>?LL4O �EF4, G?. �<D>=>64, 
4.6 �<F5D4 �, >D<E 11, D.<. 9  
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�5>DG4>64=<5: _______________________________________________________________              
_____________________________________________________________________________ 

�D><76545= 6=5L=<= >E<>FD EF4=F<<: 

 74?>D=4O 4D<4FGD4                                                                        

D4E?>?>65=<5 >5D4F=OE >?4?4=>6                                                                        

=4?<G<5 <5<5D4==>7> 54>4 < 446?5=<5 6 =5< 7474                                       ______  54D    

?>4>?NG5=<5 M?5>FD>46<74F5?5= =4E>E>6, E>7?4E=> L<?L4<>4 M?5>FD>46<74F5?O (Y/�)    

?D>65D5=> ?>4>?NG5=<5 44FG<>>6 E<7=4?>6, D5?5 446?5=<O =4?<G<5 =4 =<E M>D4=>6             
 

 

'EF4=>6?5=O ?4D4<5FDO: 6D5<O ?5D5>?NG5=<O 6 E?GG45 ??46=>7> ?GE>4 Y 3 �, 6D5<O D477>=4 6 

E?GG45 '$, 4 F4>65 7445D6>< ?D< ?GE>5 < >EF4=>6>5, >7D4=<G5=<5 <<=<<4?L=>= D45>G5= G4EF>FO, 

?4D4<5FDO M?5>FD>46<74F5?O  

 

 
 
 
7=4G5=<5 74M<FO ?> F>>G, F5<?5D4FGD5 < F.4. 4?O >464>7> <7 M?5>FD>46<74F5?O =4E>E>6; 
7=4G5=<5 F>>>6>= 74M<FO, 6OEF46?5==>5 =4 <>F>D-46F><4F5 4>?6=> E>>F65FEF6>64FL 7=4G5=<N 
I =>< =4 M?5>FD>46<74F5?5 =4E>E4.   
G?D46?5=<5 =4E>E=>= EF4=F<5= 6 DGG=>< < 46F><4F<G5E>>< D56<<4E E F>G=O< ?>445D64=<5< 
446?5=<O: 6 DGG=>< 3 =4E>E D45>F45F =4?DO<GN >F E5F<;    
6 46F><4F<G5E>>< 3 =4E>E D45>F45F >F ?D5>5D47>64F5?O G4EF>FO ?> E<7=4?4< 44FG<>4 446?5=<O   
?5D5>?NG5=<5 =4E>E>6 E D56<<4 G4EF>F=>7> D57G?<D>64=<O =4 ?<F4=<5 >F E5F<   
?D>65D>4 =4 ED454FO64=<5 ,' ?> «%GE><G E>4G»    
?D545?L=><G 7=4G5=<N 446?5=<O.   �>44G4 E<7=4?4 < 6O6>4 <=D>D<4F<< =4 ?G?LF 6 E?GG45 
464D<<.    
=4?D46?5=<5 6D4M5=<O >464>7> M?5>FD>46<74F5?O < ?D>5=O= ?GE> «=4 74>DOFGN 7446<6>G»   
6>?NG5=<5 D575D6=>7> =4E>E4 ?D< =5<E?D46=>EF< D45>G57>    
D46=><5D=GN D45>FG =4E>E>6, D>F4F<O =4E>E>6   
>>=FD>?<DGNFEO GD>6=< 6<5D4F<< 6 ?>4L<?=<>4E M?5>FD>46<74F5?O    
?D>65D>4 >FEGFEF6<O GF5G>< G5D57 E>>?L7OM55 F>DF>6>5 G??>F=5=<5   

 
 
                     
�O6>4: EF4=F<O ?D<7>4=4 4?O 44?L=5=L5= M>E??G4F4F<<. 
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�4E>E=4O GEF4=>6>4 ?>6OL5=<O 446?5=<O ANTARUS 4 
MLH15-30/GPRS 4<E?5FG5D<74F<O

4DF<>G?: 809509

�4?D4L<645<O5 ?4D4<5FDO:

$4EE>4 24,77 <³/G

�4?>D 24 <

&5<?5D4FGD4 6>4O 0-70 °%

$4>F<G5E><5 ?4D4<5FDO:

$4EE>4 24,77 <³/G

�4?>D 24 <

�>M=>EFL =4 64?G 2,28 >�F

�4>E. GD>65=L LG<4 67 4�4

�4>E. D45. 446?5=<5 PN10

NPSH FD55. 1,86 <

'4EF>F4 6D4M5=<O M/4 2 241 >5/<<=

�4==O5 M?5>FD>46<74F5?O:

�><. <>M=>EFL 3 >�F

�><.=4?DO65=<5 3E380 �, 50 7F

�><. F>> 6,2 �

�4==O5 EF4=F<<:

�5E 278 >7

�>4>?NG5=<5 DN 100

L 1 260 <<

L1 1 260 <<

H 1 650 <<

H1 199 <<

H2 510 <<

B 1 096 <<

B1 445 <<

* D4>F<G5E><5 D47<5DO < 6=5L=<= 6<4 GEF4=>6>< <>7GF =57=4G<F5?L=> >F?<G4FLEO >F ?D54EF46?5==OE
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�4E>E=4O GEF4=>6>4 ?>6OL5=<O 446?5=<O ANTARUS 4 
MLH15-30/GPRS 4<E?5FG5D<74F<O

4DF<>G?: 809509

�4?D4L<645<O5 ?4D4<5FDO:

$4EE>4 15,8 <³/G

�4?>D 35 <

&5<?5D4FGD4 6>4O 0-70 °%

$4>F<G5E><5 ?4D4<5FDO:

$4EE>4 15,8 <³/G

�4?>D 35 <

�4>E. GD>65=L LG<4 67 4�4

�4>E. D45. 446?5=<5 PN10

NPSH FD55. 1,81 <

'4EF>F4 6D4M5=<O M/4 2 633 >5/<<=

�4==O5 M?5>FD>46<74F5?O:

�><. <>M=>EFL 3 >�F

�><.=4?DO65=<5 3E380 �, 50 7F

�><. F>> 6,2 �

�4==O5 EF4=F<<:

�5E 278 >7

�>4>?NG5=<5 DN 100

L 1 260 <<

L1 1 260 <<

H 1 650 <<

H1 199 <<

H2 510 <<

B 1 096 <<

B1 445 <<

* D4>F<G5E><5 D47<5DO < 6=5L=<= 6<4 GEF4=>6>< <>7GF =57=4G<F5?L=> >F?<G4FLEO >F ?D54EF46?5==OE
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1 �E=>6=>= =4E>E ANTARUS MLH15-30 2 LF.

2 $575D6=O= =4E>E ANTARUS MLH15-30 2 LF.

3 �4FG<> 446?5=<O 2 LF.

4 �4=><5FD 2 LF.

5 ,4D>6>= >D4= DN 50 8 LF.

6 �?4?4= >5D4F=O= DN 50 4 LF.

7 �E4EO64NM<= >>??5>F>D <7 =5D6. EF4?< AISI 304 1 LF.

8 �4?>D=O= >>??5>F>D <7 =5D6. EF4?< AISI 304 1 LF.

9 �><??5>F 6<5D>>?>D 1 >><??.

10 ,>4D G?D46?5=<O 1 LF.

�?<E4=<5
�>F>64O > ?>4>?NG5=<N GEF4=>6>4 ?>6OL5=<O 446?5=<O. �><??5>F ?>EF46><:
- 7>D<7>=F4?L=O5 =4E>EO;
- 6E4EO64NM<= < =4?>D=O= >>??5>F>DO <7 =5D6465NM5= EF4?<;
- D4<4->E=>64=<5 =4 D57G?<DG5<OE ?> 6OE>F5 6<5D>>?>D4E;
- >><??5>F 74?>D=>= 4D<4FGDO =4 6E4EO64NM<E < =4?>D=OE ?4FDG5>4E =4E>E>6, >5D4F=O5 >?4?4=O =4 =4?>D=OE ?4FDG5>4E;
- <4=><5FDO, 44FG<>< 446?5=<O;
- 44FG<> ?>O6?5=<O 6>4O =4 GD>6=5 ?>?4 ?><5M5=<O;
- <5<5D4==O= 54> 8?, 4?O EF4=F<= E 4<4<5FD>< =4?>D=>7> >>??5>F>D4 DN80 < <5=55.

�E=>6=O5 DG=>F<< L>4D4 G?D46?5=<O =4E>E4<< E ?D5>5D47>64F5?5< G4EF>FO =4 >464O= =4E>E 
1. �6F><4F<G5E><= < DGG=>= D56<< D45>FO  
2. �>=D<7GD<D>64=<5 ?GF5< <7<5=5=<O ?4D4<5FD>6 E<EF5<O, =4E>E>6, 446?5=<O  
3. %65F>64O E<7=4?<74F<O =5<E?D46=>EF<  
4. $4745?L=4O E<7=4?<74F<O D45>FO =4E>E>6  
5. $4745?L=4O E<7=4?<74F<O =5<E?D46=>EF< =4E>E>6  
6. �6G>>6>5 >?>65M5=<5 ?D< 464D<<
7. $>F4F<O (?5D5<5==>5 ?5D5>?NG5=<5 =4E>E>6 4?O 6OD46=<64=<O <>F>D5EGDE4)  
8. �>4>?NG5=<5 D575D6=OE =4E>E>6 ?D< >F>475 D45>F4NM<E
9. �>4>?NG5=<5 44FG<>4 ?D>F5G>< < 74F>??5=<O, E 6O6>4>< E>>5M5=<= > ?D>F5G>5 =4 ?4=5?L >>=FD>??5D4, =4 E5D6<E 4<E?5FG5D<74F<< 
meterus.ru < %�% G654><?5=<5
10. �5D544G4 44==OE >5 464D<OE < F5>GM<E ?4D4<5FD>6 EF4=F<< ?> GPRS =4 E5D6<E 4<E?5FG5D<74F<< meterus.ru
11. �F?D46>4 %�% >5 464D<OE =4 <>5<?L=O= =><5D >5E?G6<64NM57> ?5DE>=4?4 
12. �4M<F4 >F «EGE>7> E>44» ?> 44FG<>G 446?5=<O 
13. �4M<F4 46<74F5?5= >F ?5D57D564 >5<>F>> ?>ED54EF6>< F5D<<EF>D>6 (PTC)  
14. �4M<F4 46<74F5?5= >F ?5D57D564 >5<>F>>, ?5D57DG7>< ?> F>>G < >>D>F>>7> 74<O>4=<O  
15. '44?5==4O 4<E?5FG5D<74F<O E ?><>MLN ?>>4?L=>= E5F< (Ethernet) ?> ?D>F>>>?G ModBus TCP/IP <?< ?D< ?><>M< EF4=44DF4 RS-485 
?> ?D>F>>>?G ModBus RTU
16. �>7<>6=>EFL ?>4>?NG5=<O >5M54><>6>7> EG5FG<>4 D4EE>44 6>4O E <<?G?LE=O< 6OE>4><
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�4F4 D4EGUF4: 06.10.2023
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(495) 725-09-52 (343) 287-05-90 (3812) 50-21-48 (3452) 50-01-77
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'EF4=>6>4 ?>64D>FGL5=<O ANTARUS 2 MST65-125/5,5/DS2-GPRS

4DF<>G?: 972842

�4?D4L<645<O5 ?4D4<5FDO:

$4EE>4 51,8 <³/G

�4?>D 15 <

&5<?5D4FGD4 6>4O 0-70 °%

$4>F<G5E><5 ?4D4<5FDO:

$4EE>4 60,4 <³/G

�4?>D 20,4 <

�>M=>EFL =4 64?G 3,94 >�F

�4>E. GD>65=L LG<4 60 4�4

�4>E. D45. 446?5=<5 PN12

NPSH FD55. 5,48 <

'4EF>F4 6D4M5=<O M/4 2 950 >5/<<=

�4==O5 M?5>FD>46<74F5?O:

�><. <>M=>EFL 5,5 >�F

�><.=4?DO65=<5 3E380 �, 50 7F

�><. F>> 11,5 �

�4==O5 EF4=F<<:

�5E 487 >7

�>4>?NG5=<5 DN 125

L 944 <<

L1 944 <<

H 1 686 <<

H1 272 <<

H2 860 <<

B 1 816 <<

B1 579 <<

B2 248 <<

* D4>F<G5E><5 D47<5DO < 6=5L=<= 6<4 GEF4=>6>< <>7GF =57=4G<F5?L=> >F?<G4FLEO >F ?D54EF46?5==OE
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1 �E=>6=>= =4E>E ANTARUS MST65-125/5,5 1 LF.

2 $575D6=O= =4E>E ANTARUS MST65-125/5,5 1 LF.

3 �4FG<> 446?5=<O 2 LF.

4 �4=><5FD 4 LF.

5 �4F6>D 4<E>>6O= DN 125 2 LF.

6 �4F6>D 4<E>>6O= DN 100 4 LF.

7 �?4?4= >5D4F=O= DN 100 2 LF.

8 �E4EO64NM<= >>??5>F>D <7 =5D6. EF4?< AISI 304  DN 125 1 LF.

9 �4?>D=O= >>??5>F>D <7 =5D6. EF4?< AISI 304  DN 125 1 LF.

10 ,>4D G?D46?5=<O 1 LF.

�?<E4=<5
�>F>64O > ?>4>?NG5=<N GEF4=>6>4 ?>64D>FGL5=<O. �><??5>F ?>EF46><:
- 7>D<7>=F4?L=O5 =4E>EO;
- 6E4EO64NM<= < =4?>D=O= >>??5>F>DO <7 =5D6465NM5= EF4?<;
- D4<4->E=>64=<5;
- >><??5>F 74?>D=>= 4D<4FGDO E >>=F56O<< 6O>?NG4F5?O<< =4 6E4EO64NM<E < =4?>D=OE ?4FDG5>4E =4E>E>6, >5D4F=O5 >?4?4=O =4 
=4?>D=OE ?4FDG5>4E;
- D4745?<F5?L=O= 74F6>D E >>=F56O<< 6O>?NG4F5?O<< =4 6E4EO64NM5< < =4?>D=>< >>??5>F>D4E;
- <4=><5FDO, 44FG<>< 446?5=<O;
- L>4D G?D46?5=<O �<?5DGE E >>=FD>??5D><.

$G=>F<>=4?L=>EFL L>4D4 G?D46?5=<O:
1.  �6F><4F<G5E>>5 6>?NG5=<5 =4E>E>6 ?D< ?>EFG??5=<< E<7=4?4 «�>64D» </<?< ?> ?445=<N 446?5=<O 6 E<EF5<5;
2.  �F>?NG5=<5 =4E>E>6 F>?L>> 6 DGG=>< D56<<5; 
3.  �6F><4F<G5E>>5 ?>4>?NG5=<5 D575D6=>7> =4E>E4 ?D< >F>475 >E=>6=>7>;
4.  �6F><4F<G5E><= 74?GE> EF4=F<< ?>E?5 464D<==OE E<FG4F<=, ?D< 6>EEF4=>6?5=<< ?<F4NM57> =4?DO65=<O;
5. �6F><4F<G5E><= 66>4 D575D64 ?> M?5>FD>?<F4=<N;
6.  �GE> < >EF4=>6 =4E>E>6 >F E5F<;
7.  �>=D<7GD<D>64=<5 ?GF5< <7<5=5=<O ?4D4<5FD>6 E<EF5<O, =4E>E>6, 446?5=<O < 4DG7<E ?4D4<5FD>6;
8.  �4?<G<5 E5=E>D=>= ?4=5?< =4 465DF5 L>4D4 G?D46?5=<O;
9. �4M<F4 46<74F5?5= =4E>E>6 >F ?5D57DG7>< ?> F>>G < >>D>F>>7> 74<O>4=<O ?D< ?><>M< 6EFD>5==OE DG=>F<= GEFD>=EF64 ??46=>7> 
?GE>4 < 46F><4F<G5E><E 6O>?NG4F5?5=;
10. �4M<F4 =4E>E4 >F 74D4EF4=<O (74<?<64=<O) ?>ED54EF6>< ?D>5=>7> ?GE>4 6 F5G5=<5 2-5 E5>G=4 >464O5 ?OFL EGF>> ?D>EF>O
11. �>=FD>?L ?<=<= E6O7< E 44FG<>4<< =4 >5DO6 < >>D>F>>5 74<O>4=<5;
12. '?D46?5=<5 6>>5=-=4E>E>< E> E65F>6>= <=4<>4F<5= E>EF>O=<O;
13. �GE> < >EF4=>6 6>>5=-=4E>E4 >F E5F<;
14. �6F><4F<G5E>>5 >F>DOF<5 7446<6><, >E=4M5==>= M?5>FD>?D<6>4><, GEF4=>6?5==>= =4 >56>4=>= ?<=<< 6>4><5D=>7> G7?4, ?> 
E<7=4?G «�>64D», E> E65F>6>= <=4<>4F<5= «7446<6>4 >F>DOF4» < «7446<6>4 74>DOF4»;
15. $GG=>= D56<< D45>FO;
16. %65F>64O E<7=4?<74F<O E<7=4?4 «�>64D»;
17. %65F>64O E<7=4?<74F<O =4?<G<O M?5>FD>?<F4=<O;
18. %65F>64O E<7=4?<74F<O D45>G57> < 464D<==>7> E>EF>O=<O 6E5E <E?>?=<F5?L=OE GEFD>=EF6;
19. �<E?5FG5D<74F<O 464D<==OE < D45>G<E ?4D4<5FD>6 E<EF5<O G?D46?5=<O ?D< ?><>M< 55E?>F5=F<4?L=OE «EGE<E» >>=F4>F>6;
20. �<E?5FG5D<74F<O E ?><>MLN ?>>4?L=>= E5F< (Ethernet) ?> ?D>F>>>?G ModBus TCP/IP <?< ?D< ?><>M< EF4=44DF4 RS-485 ?> 
?D>F>>>?G ModBus RTU;
21. �5D544G4 44==OE >5 464D<OE < F5>GM<E ?4D4<5FD>6 EF4=F<< ?> F5E=>?>7<< GPRS =4 E5D6<E 4<E?5FG5D<74F<< meterus.ru;
22. %�%->?>65M5=<O 464D<==OE ?4D4<5FD>6.
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�4F4 D4EGUF4: 25.09.2023
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ANTARUS SEARCH
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�>E>64 �>4F5D<=5GD7 �<E> &N<5=L
(495) 725-09-52 (343) 287-05-90 (3812) 50-21-48 (3452) 50-01-77
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÷ >><??5>FGNM55 >5>DG4>64=<5, ?>?GG45<>5 >F EF>D>==<E >D74=<74F<= 3 E>7?4E=> 
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